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 )Measurement قᘭاسات(ال

ᗷᜓمᘭة يرتᘘط قᘭاس  ان ᛿ل. ها لوصف الظواهر الطبᘭعᘭة، ᘌجب علينا إجراء قᘭاسات لمختلف جوانب

ᗫائᘭة ᡧ ᢕᣂو . جسممثل طول ال ،ف ᡧ ᢕᣌة بᘭاضᗫاء كعلاقات رᗫ ᡧ ᢕᣂالف ᡧ ᢕᣌعن قوان ᢕᣂتم التعبᗫةᘭائᗫ ᡧ ᢕᣂات الفᘭمᝣال. 

 ᢝ
ᡧ

ᣚ1960عام ال ᢕᣂة مجموعة من المعايᘭشأت لجنة دولᙏة، أᘭالأساس   Fundamental للᝣمᘭات

quantities طلق عليهᘌ .اللعلوم SI للوحدات(النظام ال ᢝᣥة  وحداتان الو  )،عالᘭتلة لالأساس᜻لطول وال

.  s الثانᘭةو  kg  والᘭ᜻لوغرام ᢝᣦ m المᡨᣂ  زمنوال ᢝᣠالتوا ᣢأخرى للهناك و ع ᢕᣂمعاي ᢝ
ᡧ

ᣚ ةᘭائᗫ ᡧ ᢕᣂخواص الف

ᢝ  )،تلك الخاصة ᗷدرجة الحرارة (᛿لفن مثلوضعتها اللجنة  SI وحدات الأساسᘭةنظام ال
᡽ᣍاᗖᖁه᜻ار الᘭالت

 ᢕᣂالأمب)،(  ،(الشمعة) اءᘭةوشدة الضᘭم᛿مات المادة وᘭال او عدد الجس)مول(.  

  

ᢝ المᘭᜓانᘭك
ᡧ

ᣚ ،الطول  ᢝᣦ ةᘭات الأساسᘭمᝣال Length  تلة᜻والMass زمنوال Time .  و ᢕᣂمكن التعبᗫ

ᢝ المᘭᜓانᘭك(الᝣمᘭات المشتقة) ميع الᝣمᘭات الأخرى عن ج
ᡧ

ᣚ  حدودᗷ ةهذە الᘭات الأساسᘭمᝣ. 

ات الأخرى  اما  ᢕᣂات مشتقة فمعظمها تكونالمتغᘭم᛿ Derived quantities ᢕᣂمكن التعبᘌ ᢝ
ᡨᣎتلك ال ،

ᢝ من الᝣمᘭات الأساسᘭة. 
ᡧᣔاᗫــــج رᗫᖂأنها م ᣢات المشتقة من الأمثلة الشائعةو عنها عᘭمᝣالمساحة عن ال 

Area ) حاصل ᢝᣦو ᡧ ᢕᣌب طول ᡧᣅو ( نطلاقالا speed الفاصل ᣠة الطول إᘘسᙏ)ة ᘭةالزمن .(  

 ᗫرمز و  ،لأي مادة يتم تعᗫᖁف ال᜻ثافةحᘭث :  density ال᜻ثافة مثل مشتقةومن الأمثلة الأخرى ع᛿ ᣢمᘭة 

ᗷ لها ᢝ
ᡧᣍالحرف اليونا ρ  قرأᗫوrho ، تلة᜻أنها ال ᣢع 𝑚 ل وحدة حجمᝣل 𝑉  : 

𝜌 ൌ
𝑚
𝑉
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ᗷ ᢝعد واحد(
ᡧ

ᣚ الحركة Motion in One Dimension(  

ᗫاء. ول᜻ن  ᡧ ᢕᣂة ممتازة لدراسة الفᘌداᗷ ة وضوحا، ولذلك فأنها تمثلᘭائᗫ ᡧ ᢕᣂالظواهر الف ᡵᣂᜧاحدى أ ᢝᣦ الحركة

. وهذا الوصف الᢝᣥᝣ للحركة لن ᘌكون مقنعا الا ᗷعد  ᢝᣥ᛿ شᜓلᚽ ة وصفهاᘭفᘭل ذلك علينا ان نفهم كᘘق

  الطول والزمن. تعᗫᖁف ᗷعض خواصها الأساسᘭة مثل الازاحة والᣄعة والتعجᘭل ᗷدلالة اᗷعاد 

 Speed لانطلاقوا Velocityوالᣄعة  Position الموضع 2.1

  م ( موضعانᘭالجس𝑥 مᘭهو (موقع الجس (ᣠة اᘘال سᗷ  ارهاᘘمكننا اعتᘌ ة مختارةᘭنقطة مرجع

 نظام الإحداثᘭات).  ركز م

  فᗫᖁزاحةالإيتم تع Displacement )∆𝑥 (ملᘭجس ) أنها ᣢموضعالع ᢝ
ᡧ

ᣚ ᢕᣂم تغᘭخلال الجس 

ة زمنᘭة معينة).  ᡨᣂث فᘭح) ᢝᣠم من موضع أوᘭعندما ي تقل الجس𝑥௜) ᢝ
᡽ᣍموضع نها ᣠإ (𝑥௙ ، (

 : معطاة ᗷالمعادلةه تزاحا تكون

∆𝑥 ൌ 𝑥௙ െ 𝑥௜            (2.1) 

delta ) ᢝ دلتا الحرف ᙏستخدم           
ᡧᣍة. ∆اليوناᘭمᝣال ᢝ

ᡧ
ᣚ ᢕᣂالتغي ᣢللدلالة ع (  

 ) ف، نرى أنᗫᖁمن هذا التع∆𝑥 ( انتكون᛿ ة إذاᘘموج  ᢝ
᡽ᣍالموضع النها )𝑥௙من ᢔᣂᜧالموضع  ) أ

 ᢝᣠالاو )𝑥௜ انت (تكون ) و᛿ ة إذاᘘسال𝑥௙) أقل من (𝑥௜ .(  

ᡧ الا جدا من المهم  ᢕᣌوالمسافة المقطوعة.  زاحةمعرفة الفرق ب  

 المسافة Distance  طول المسار الذي ᢝᣦ)م). يᘭعه الجسᘘᙬ  

  ل المسافة دائماᘭمكن أن بيتم تمثᘌ ᡧ ᢕᣌح ᢝ
ᡧ

ᣚ ،زاحةكون الاترقم موجب ᘘةموج ᘘةأو سال .  

  الإزاحة ان ᢝᣦ ة متجهلمثالᘭمᝣ Vector . ذلك وان ᢝ
ᡧ

ᣚ ماᗷ ،ة الأخرىᘭائᗫ ᡧ ᢕᣂات الفᘭمᝣد من الᘌالعد

   . ᛿مᘭات متجه، ᢝᣦ أᘌضا  Accelerationعجᘭل الموضع والᣄعة والت

  شᜓل عام، تتطلبᚽة المتجه الᘭمᝣVector quantity   دᘌل من الاتجاە واتحد᛿مةᘭة اما . لقᘭمᝣال

 اتجاە.  ᛳس لها لها قᘭمة عددᘌة ولف Scalar quantity العددᘌة

 

 عةعرف تᣄمتوسط ال Average velocity )𝑣௫,ୟ୴أنهᗷ مᘭم ( ا ) للجسᘭإزاحة الجس)∆𝑥 (

  الإزاحة):  ەهذ ا حدث فيهت) الذي 𝑡∆( ةالزمنᘭ ةمقسوما عᣢ الفاصل
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𝑣௫,ୟ୴ ൌ
∆𝑥
∆𝑡

                ሺ2.2ሻ 

ᢝ  امتداد  ) إᣠ الحركة ع𝑥ᣢحᘭث ᛒشᢕᣂ الحرف (
ᡧᣎالمحور السي) 𝑥 .(  

 عᣢ، أو مtime ᡨᣂ زمنمقسومة عᣢ ال length أᗷعاد طول ا من هذا التعᗫᖁف، نرى أن متوسط الᣄعة له

mالثانᘭة ( s⁄ (الوحدات النظام  وحداتب ᢝᣥالعال SI .  

  مكن أنᘌم تᘭعة الجسᣃ كون متوسطᘘعد واحد موجᗷ ᢝ
ᡧ

ᣚ ةالمتحرك ᘘةأو سال ᣢاعتمادا ع ،

 الإزاحة.  اشارة

  ةالفاصلوتكون ᘭةالزمن )∆𝑡ᘘدائما.  ة) موج  

ᢝ أي لحظة خلال فاصل
ᡧ

ᣚ ةᘭعته الآنᣃ م ثابتة، فإنᘭعة الجسᣃ انت᛿ ةإذا ᘭنفس متوسط  ةزمن ᢝᣦ

ᢝ ان . وهذا ةالفاصل هذە الᣄعة خلال
ᡧᣎعᘌ 𝑣௫ ൌ 𝑣௫,ୟ୴  

𝑣௫ ൌ
∆𝑥
∆𝑡

 

𝑥∆ تذكر أن ب ൌ 𝑥௙ െ 𝑥௜  

  ᘌكون

𝑣௫ ൌ
𝑥௙ െ 𝑥௜

∆𝑡
 

  ان أو  

𝑥௙ ൌ 𝑥௜ ൅ 𝑣௫∆𝑡 

ᘭال، نختار ا عمل ᢝ
ᡧ

ᣚ كون عادةᘌ ة الفاصل زمنالانᘌداᗷ ᢝ
ᡧ

ᣚة ᘭالصفر  ةالزمن ᣠا اᗫمساو 𝑡௜ ൌ ᢝ  زمنوال 0
ᡧ

ᣚ

𝑡௙ ةالزمنᘭ ةالفاصلهذە نهاᘌة  ൌ 𝑡 عة  ، لذلك تصبح المعادلةᣄعندما تكون ال𝑣௫ ثابتة : 

𝑥௙ ൌ 𝑥௜ ൅ 𝑣௫𝑡          ሺ2.3ሻ 

 ᘌ نطلاق متوسط الا ف عرAverage speed  )𝑣ୟ୴ةᘌة عددᘭم᛿ م، وهوᘭأنه (المسافة ) للجسᗷ ،

  تلك المسافة):  قطعل اللازمة ᝣلᘭةال ةالزمنᘭ ةمقسومة عᣢ الفاصل) 𝑑الᝣلᘭة (
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𝑣ୟ୴ ൌ
𝑑
∆𝑡

                      ሺ2.4ሻ 

mالثانᘭة) ( عᢝᣦᣢ نفس وحدة الᣄعة المتوسطة: (مᡨᣂ  لمتوسط الانطلاق SI النظام وحدةان  s⁄ .( 

  سᛳعنه دائم نطلاقمتوسط الا لل ᢕᣂتم التعبᗫا كرقم موجب. اتجاە و 

  والانطلاق Instantaneous Velocity الᣄعة الآنᘭة 2.2

𝑥∆ال سᘘة (غاᘌة  ) ᘻساوي قᘭمة𝑣௫( الᣄعة الآنᘭة ∆𝑡⁄ ( ب  عندما ᡨᣂتقሺ∆𝑡ሻ  :من الصفر 

𝑣௫ ൌ lim
∆௧→଴

∆𝑥
∆𝑡

                     ሺ2.5ሻ 

 ᢝ
ᡧ

ᣚ عᖔهذا الحد مشتقالتفاضل والتᜓامل موض ᣥسᛒ ،ة )𝑥 (ᣠة اᘘال سᗷ )𝑡 ، (وتكتب )𝑑𝑥 𝑑𝑥⁄ :(  لذلك

  الآنᘭةالᣄعة تكون 

𝑣௫ ൌ
𝑑𝑥
𝑑𝑡

                                   ሺ2.6ሻ 

 الᣄعة الآنᘭة موجᘘة أو سالᘘة أو صفر.  اشارة ᘌمكن أن تكون

ᘌ أنه ( نطلاقعرف الاᗷ مᘭللجس ᢝ
ᡧᣍمةالآᘭما هو الحال مع متوسط  ق᛿ .(ةᘭعته الآنᣃ،فإن  الانطلاق

ᢝ لᛳس لهنطلاق الا 
ᡧᣍه الآᗷ طᘘاتجاە يرت .  

 : معادلةوفقا لل زمنموقعه مع ال تغᢕᣂ يحᘭث ). 𝑥 ‐(المحور امتداد يتحرك جسᘭم عᣢ  ): 2.1مثال (

ሺ𝑥 ൌ െ4𝑡 ൅ 2𝑡ଶሻ ،وان )𝑥 ( الأمتار و تقاسᗷ )𝑡 ( تقاس ᢝ
ᡧ

ᣚال ᢝ
ᡧᣍثوا . 

)A (احسب ) ةᘭالفواصل الزمن ᢝ
ᡧ

ᣚ مᘭإزاحة الجس𝑡 ൌ 0) ᣠإ (𝑡 ൌ 1 s) و (𝑡 ൌ 1 s) ᣠإ (𝑡 ൌ 3 s .( 

)B (عة خلال هذە الف احسبᣄتانالزمن اصلتانمتوسط الᚏ . 

)C عةᣄأوجد ال (ᘭةالآن ) م عندᘭللجس𝑡 ൌ 2.5 s .( 

 : حلال

)A :(الفاصل ᢝ
ᡧ

ᣚة ᘭةالزمن ᣠالأو) ،𝑡 ൌ 0) ᣠإ (𝑡 ൌ 1 s :(  

∆𝑥 ൌ 𝑥௙ െ 𝑥௜ ൌ ሾെ4ሺ1ሻ ൅ 2ሺ1ሻଶሿ െ ሾെ4ሺ0ሻ ൅ 2ሺ0ሻଶሿ ൌ െ2 m 
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ᢝ الفاصلاما 
ᡧ

ᣚة ᘭةال ةالزمنᘭثان) ،𝑡 ൌ 1 s) ᣠإ (𝑡 ൌ 3 s( :  

∆𝑥 ൌ 𝑥௙ െ 𝑥௜ ൌ ሾെ4ሺ3ሻ ൅ 2ሺ3ሻଶሿ െ ሾെ4ሺ1ሻ ൅ 2ሺ1ሻଶሿ ൌ ൅8 m 

)Bالف ᢝ
ᡧ

ᣚ :(اصلة ) استخدم المعادلة ،ᣠة الأوᘭالزمن𝑣௫,ୟ୴ ൌ
∆௫

∆௧
𝑡∆  ) مع ൌ 𝑡௙ െ 𝑡௜ ൌ 1 s  :  

𝑣௫,ୟ୴ ൌ
∆𝑥
∆𝑡

ൌ
െ2 m

1 s
ൌ െ2 m s⁄  

ᢝ الفو
ᡧ

ᣚة ال اصلةᘭةالزمنᘭثان ،∆𝑡 ൌ 𝑡௙ െ 𝑡௜ ൌ 3 െ 1 ൌ 2 s  : 

𝑣௫,ୟ୴ ൌ
∆𝑥
∆𝑡

ൌ
൅8 m

2 s
ൌ ൅4 m s⁄  

)C :(عة الᣄ  المعادلةᗷ ᣗة تعᘭالآن𝑣௫ ൌ
ௗ௫

ௗ௧
ሺ𝑥حᘭث ان معادلة الموقع   ൌ െ4𝑡 ൅ 2𝑡ଶሻ كونᘭف  

𝑣௫ ൌ
𝑑𝑥
𝑑𝑡

ൌ
𝑑
𝑑𝑡

ሺെ4𝑡 ൅ 2𝑡ଶሻ ൌ െ4 ൅ 4𝑡 

𝑡وعند زمن  ൌ 2.5 s  ةᘭعة الآنᣄتكون ال  

𝑣௫ ൌ 4 ൅ 4𝑡 ൌ െ4 ൅ 4ሺ2.5ሻ ൌ ൅6 m s⁄  

 التعجᘭل 2.3

 م مع مرور الᘭعة الجسᣃ ᢕᣂقال زمنعندما تتغᘌ ،م  عنᘭلالجسᘭان له تعجᗷ . 

 عرفᘌ لمتوسط التᘭم عجᘭللجس )𝑎௫,ୟ୴ انهᗷ () ) عةᣄال ᢝ
ᡧ

ᣚ ᢕᣂالتغ∆𝑣௫الفاصل ᣢة) مقسوما ع 

ᘭةالزمن )∆𝑡ال ( ᢝ
ᡨᣎ حدثᘌ  خلالها  :( ᢕᣂالعلاقة هذا التغيᗷ لᘭمتوسط التعج ᣗعᗫو 

𝑎௫,ୟ୴ ൌ
∆𝑣௫

∆𝑡
ൌ

𝑣௙௫ െ 𝑣௜௫

𝑡௙ െ 𝑡௜
                        ሺ2.7ሻ 

mالثانᘭة ( عᣢ مᗖᖁــعمᡨᣂ الᢝᣦ  عجᘭلوحدة التان  sଶ⁄ .( 

  ساويᛒلالتᘭالآ عج ᢝ
ᡧᣍ عة  ةمشتقᣄالزمنال ᣠة اᘘال سᗷ : العلاقةᗷ ᣗعᗫو  

𝑎௫ ൌ
𝑑𝑣௫

𝑑𝑡
                                             ሺ2.8ሻ 
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 حالة ᢝ
ᡧ

ᣚ لحركة ا ᢝ
ᡧ

ᣚ عة الجسم واتجاە تᣃ ط اتجاەᘘم، يرتᘭلهخط مستقᘭعندما تكون   عج : ᢝᣢᘌ ما᛿

ᢝ نفس الاتجاە عجᘭلهوت جسᘭمᣃعة ال
ᡧ

ᣚم، فإن الᘭدي جسᘌل تزاᘭة و . يتعجل بتعجᘭمن ناح

ᡧ  عجᘭلتالو  جسᘭمعندما تكون ᣃعة ال أخرى، ᢕᣌسᜧمتعا ᡧ ᢕᣌاتجاه ᢝ
ᡧ

ᣚم يتعجل ، فإن الᘭجس

 . بتعجᘭل تᘘاطؤ 

 ون ان ل᜻ 𝑣௫ ൌ
ௗ௫

ௗ௧
ᢝ عᣢ النحو  عجᘭلᘌمكن أᘌضا كتاᗷة التفانه ، 

ᡨᣍالا :  

𝑎௫ ൌ
𝑑𝑣௫

𝑑𝑡
ൌ

𝑑
𝑑𝑡

൬
𝑑𝑥
𝑑𝑡

൰ ൌ
𝑑ଶ𝑥
𝑑𝑡ଶ                             ሺ2.9ሻ 

 ، ᢝ
ᡧᣎعᘌ انه وهذا ᢝ

ᡧ
ᣚحركةال  ᢝ

ᡧ
ᣚ  عدᗷ  ساوي التواحدᛒ ،لᘭةالمشتق ،عج ᘭلـ ( ةالثان𝑥 (ة للزمنᘘال سᗷ .  

𝑣௫( معادلة) وفقا للᣃ‐ 𝑥عة الجسᘭم المتحرك عᣢ طول (المحور تغᢕᣂ ت ): 2.2مثال ( ൌ 40 െ 5𝑡ଶ (

m( الثانᘭة عᣢ مᡨᣂ الوحدات ب 𝑣௫، حᘭث تكون  s⁄( ) و𝑡الثᗷ (ةᘭان )s( . 

)Aل) أوجد متوسط التᘭالفاصل عج ᢝ
ᡧ

ᣚة ᘭةالزمن )𝑡 ൌ 0  ᣠإ𝑡 ൌ 2 s .(  

)B (لالت احسبᘭعند  عج𝑡 ൌ 2 s . 

 الحل: 

(A) 
                    𝑣௫ଵ ൌ 40 െ 5𝑡ଶ ൌ 40 െ 5ሺ0ሻଶ ൌ 40 m s⁄    

𝑣௫ଶ ൌ 40 െ 5𝑡ଶ ൌ 40 െ 5ሺ2ሻଶ ൌ 20 m s⁄    

𝑎௫,ୟ୴ ൌ
∆𝑣௫

∆𝑡
ൌ

𝑣௫௙ െ 𝑣௫௜

𝑡௙ െ 𝑡௜
ൌ

20 െ 40
2 െ 0

ൌ െ10 m sଶ⁄  

  . ؤ تᘘاط ᘌخضع لتعجᘭل إᣠ أن الجسᘭم الᘘةᘻشᢕᣂ العلامة الس

 
(B)  

𝑎௫ ൌ
𝑑𝑣௫

𝑑𝑡
ൌ

𝑑
𝑑𝑡

ሺ40 െ 5𝑡ଶሻ ൌ െ10𝑡 ൌ െ10ሺ2ሻ ൌ െ20 m sଶ⁄  

 Particles under Constant Acceleration ثاᗷت عجᘭلت تأثᢕᣂ  تحت الجسᘭمات 2.4
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تكون حركته معقدة وᗫصعب تحلᘭلها. ول᜻ن هناك نوعا شائعا و᚛سᘭطا  الزمن،مع  الجسᘭم عجᘭلتتغᢕᣂ إذا 

constant ᢝ ثابتا  ا فيه عجᘭلᘌكون الت ان وone‐dimensional motion،  ᢝᣦ الᘘعد حادᘌة الأ للحركة 
ᡧ

ᣚ .

   الحالة: هذە 

 كون متوسط التᘌلᘭعج )𝑎௫,ୟ୴ ة مساوᘭة زمن ᡨᣂا ) خلال أي فᗫ ا للتᘌلعددᘭعج  ᢝ
ᡧᣍالآ )𝑎௫ أي ᢝ

ᡧ
ᣚ (

   الزمنᘭة، ةلحظة خلال الفاصل

 عة بنفس المعدلᣄال ᢕᣂوتتغ  ᢝ
ᡧᣎطوال الحركة.  الزم  

 ᢝ
ᡧ

ᣚار ي حالةال ەهذوᘘمات ان  ؤخذ بنظر الاعتᘭلتتحت تكون الجسᘭت عجᗷثا .      

ᢝ المعادلة ᗷ (𝑎௫)ـ ( 𝑎௫,ୟ୴إذا اسᘘᙬدلنا (
ᡧ

ᣚ (𝑎௫,ୟ୴ ൌ
∆௩ೣ

∆௧
ൌ

௩೑ೣି௩೔ೣ

௧೑ି௧೔
𝑡௜  الزمن خذنا أ) و  ൌ 𝑡௙ ᢝو ( 0

ᡧ
ᣚ (

  ) ، نجد أن: 𝑡لاحق ( زمنأي 

𝑎௫ ൌ
𝑣௙௫ െ 𝑣௜௫

𝑡 െ 0
 

  ثاᗷت 𝑎௫فᘭكون لتعجᘭل 

𝑣௙௫ ൌ 𝑣௜௫ ൅ 𝑎௫𝑡                   ሺ2.10ሻ 

ᢝ أي فاصلة زمنᘭة لتعجᘭل
ᡧ

ᣚ عةᣄعن متوسط ال ᢕᣂمكننا التعبᗫت وᗷثا 𝑎௫ العلاقةᗷ  

𝑎௫,ୟ୴ ൌ
𝑣௙௫ ൅ 𝑣௜௫

2
                        ሺ2.11ሻ 

ᢝ التلمتوسط الᣄعة  ە المعادلةلاحظ أن هذ
ᡧ

ᣚ كون فيها الت حالات نطبق فقطᘌ ᢝ
ᡨᣎلالᘭثابتا.  عج  

൫∆𝑥استخدام المعادلات  ᘌمكننا  لآنا ൌ 𝑥௙ െ 𝑥௜൯  و ቀ𝑣௫,ୟ୴ ൌ
∆௫

∆௧
ቁ  موضع ᣢمللحصول عᘭالجس 

:   لزمنكدالة ل ᢝᣢᘌ ما᛿  

𝑣௫,ୟ୴ ൌ
∆𝑥
∆𝑡

ൌ
𝑥௙ െ 𝑥௜

𝑡௙ െ 𝑡௜
ൌ

𝑥௙ െ 𝑥௜

𝑡 െ 0
ൌ

𝑥௙ െ 𝑥௜

𝑡
 

∴ 𝑥௙ െ 𝑥௜ ൌ 𝑣௫,ୟ୴𝑡 

ቀ𝑎௫,ୟ୴ ൌوحᘭث ان 
௩೑ೣା௩೔ೣ

ଶ
ቁ كونᘌ  
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𝑥௙ െ 𝑥௜ ൌ ൬
𝑣௙௫ ൅ 𝑣௜௫

2
൰ 𝑡 

  ثاᗷت 𝑎௫فᘭكون لتعجᘭل 

𝑥௙ ൌ 𝑥௜ ൅
1
2

൫𝑣௜௫ ൅ 𝑣௙௫൯𝑡                   ሺ2.12ሻ 

ᢝ للجسᘭم هذە المعادل عᢝᣗ ت
᡽ᣍلزمنا عند ة الموضع النها (𝑡)  حدودᗷ ةᘭة والنهائᘭع الأولᣄال.   

 ᣢمكننا الحصول عᘌد معادلةᘭم تحت  ىخر ا ةمفᘭللموضع الجسᘭت  تعجᗷثا𝑎௫  ضᗫᖔبتع𝑣௫௙  من

𝑣௙௫المعادلة ( ൌ 𝑣௜௫ ൅ 𝑎௫𝑡المعادلة ᢝ
ᡧ

ᣚ ( ة ᢕᣂالاخ 𝑥௙ ൌ 𝑥௜ ൅
ଵ

ଶ
൫𝑣௜௫ ൅ 𝑣௙௫൯𝑡    : ᢝᣢᘌ ما᛿    

𝑥௙ ൌ 𝑥௜ ൅
1
2

ሺ𝑣௫௜ ൅ 𝑣௫௜ ൅ 𝑎௫𝑡ሻ𝑡 

𝑥௙ ൌ 𝑥௜ ൅
1
2

ሺ2𝑣௜௫ ൅ 𝑎௫𝑡ሻ𝑡 

𝑥௙ ൌ 𝑥௜ ൅ 𝑣௜௫𝑡 ൅
1
2

𝑎௫𝑡ଶ                  ሺ2.13ሻ 

ᢝ ال عᢝᣗ ت
ᡧ

ᣚ مᘭللجس ᢝ
᡽ᣍزمنهذە المعادلة الموضع النها ሺ𝑡ሻ  حدودᗷ  ᢝᣠالموضع الأو 𝑥௜ ةᘭعة الأولᣄوال 

𝑣௜௫ لوالتᘭت ال عجᗷثا𝑎௫ .  

ا، ᢕᣂأخ  ᣢمكننا الحصول عᘌة معادلةᘭعة النهائᣄلل 𝑣௙௫ ᣢلا تحتوي ع ᢝ
ᡨᣎالزمن ال   ᢕᣂمتغ᛿ لولتᘭعج 

𝑣௙௫من المعادلة ( ሺ𝑡ሻقᘭمة  تعᗫᖔضعن طᗫᖁق  𝑎௫ثاᗷت ال ൌ 𝑣௜௫ ൅ 𝑎௫𝑡 (  

𝑣௙௫ ൌ 𝑣௜௫ ൅ 𝑎௫𝑡 

∴ 𝑡 ൌ
𝑣௙௫ െ 𝑣௜௫

𝑎௫
 

 ᢝ
ᡧ

ᣚ  المعادلة𝑥௙ ൌ 𝑥௜ ൅
ଵ

ଶ
൫𝑣௜௫ ൅ 𝑣௙௫൯𝑡  

𝑥௙ ൌ 𝑥௜ ൅
1
2

൫𝑣௜௫ ൅ 𝑣௙௫൯ ൬
𝑣௙௫ െ 𝑣௜௫

𝑎௫
൰ 
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𝑥௙ ൌ 𝑥௜ ൅
1
2

ቆ
𝑣௙௫

ଶ െ 𝑣௜௫
ଶ

𝑎௫
ቇ 

𝑥௙ െ 𝑥௜ ൌ
1
2

ቆ
𝑣௙௫

ଶ െ 𝑣௜௫
ଶ

𝑎௫
ቇ 

2𝑎௫൫𝑥௙ െ 𝑥௜൯ ൌ 𝑣௙௫
ଶ െ 𝑣௜௫

ଶ  

∴ 𝑣௙௫
ଶ ൌ 𝑣௜௫

ଶ ൅ 2𝑎௫൫𝑥௙ െ 𝑥௜൯               ሺ2.14ሻ 

وموضع  ،𝑎௫تعجᘭل ثاᗷت و  ،𝑣௜௫ الأولᘭةالᣄعة ᗷحدود  𝑣௙௫ هذە المعادلة الᣄعة النهائᘭة عᢝᣗ ت

൫𝑥௙ الجسᘭم െ 𝑥௜൯ . 

   . زمنمرور المع خᚽ ᢝᣗشᜓل ن ᣃعته ثابتة وᗫتغᢕᣂ موضعه تكو  صفرا،الجسᘭم  عجᘭلعندما ᘌكون ت

 Kinematic Equations حركᘭةالعادلات ᗷالم )2.14) و (2.13) و (2.12) و (ᘻ2.10سᣥ المعادلات (

ᢝ الجدول أدناە: 𝑎௫ثاᗷت  عجᘭللحركة الجسᘭمات تحت ت
ᡧ

ᣚ هذە المعادلات مدرجة .   

  المعلومات المقدمة من المعادلة  المعادلة

𝑣௙௫ ൌ 𝑣௜௫ ൅ 𝑎௫𝑡   عةᣄلزمنل كدالةال  

𝑥௙ ൌ 𝑥௜ ൅
1
2

൫𝑣௜௫ ൅ 𝑣௙௫൯𝑡 
  زمنكدالة للᣄعة وال  ضعالمو 

𝑥௙ ൌ 𝑥௜ ൅ 𝑣௜௫𝑡 ൅
1
2

𝑎௫𝑡ଶ 
  لزمنل كدالة  ضعالمو 

𝑣௙௫
ଶ ൌ 𝑣௜௫

ଶ ൅ 2𝑎௫൫𝑥௙ െ 𝑥௜൯   عةᣄضعالمو  كدالةال  

  

m 45ثاᗷت ( انطلاقᘻسᢕᣂ سᘭارة ᗷ ): 2.3مثال ( s⁄ ( جوارᗷ  مرور ᢝᣖ ᡫᣃ ملكᘌ  ةدراجةᗫنار  ᡽ ᢔᣎخلف  مخت

ᢝᣖ انطلق  الإعلانات؛لوحة  منثانᘭة واحدة ب. ᗷعد مرور السᘭارة المᣄعة اتلوحة إعلان ᡫᣃمرور ال 

m 3ثاᗷت ( بتعجᘭل sଶ⁄ (موضع من  ᣢض عᘘارةسائق لوحة الإعلانات للقᘭمات المخالف السᘭللتعل، 

ᢝᣖ المرور  ᘭلتحقل المدة المستغرقةᢝᣦ ما  ᡫᣃ بها ᗷارة؟ᘭالس               

  الحل: 
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اختᘭار موضع  لائم. من المزمنكدالة لل  السᘭارة والدراجة النارᗫة من ᝣلل الموضع معادلات نكتب  أولا،

ᢝ النقطة صل و نقطة الأ لوحة الإعلانات ك
ᡧ

ᣚ وضع الزمنB ) الصفر ᣠا اᗫمساو𝑡୆ ൌ ᢝ الوقت الذي ) 0
ᡧ

ᣚ

ᢝᣖ المرور  يᘘدأ فᘭه ᡫᣃ الدراجةحرك ᣢتلك ف. ته ع ᢝ
ᡧᣛ،ارة قد  اللحظةᘭالفعل مسافة تكون السᗷ قطعت

)45 m من لوحة الإعلانات لأنها ( ᢕᣂسᘻ ᗷت  انطلاقᗷلغ يثاᘘ45 m s⁄ ᗷ .ة واحدةᘭفإن  لذلك،مدة ثان

   . ᛒሺ45 mሻساوي  المᣄعة  𝑥୆ للسᘭارة الأوᢝᣠ  وضعالم

 

𝑥௙تطبيق المعادلة (ب ൌ 𝑥௜ ൅ 𝑣௫𝑡 لإ ( جادᘌ ارة  وضعمᘭزمنأي  عند الس )𝑡(   : ᢝᣢᘌ ما᛿  

𝑥௙ ൌ 𝑥௜ ൅ 𝑣௫𝑡      →      𝑥ୡୟ୰ ൌ 𝑥୆ ൅ 𝑣௫,ୡୟ୰𝑡 

𝑡( الزمن عند  ൌ 0،(  ᢝᣗالموضع الا  معادلةال ەهذ تع ᢝᣠدأ  وᘘارة عندما يᘭالمرور الصحيح للس ᢝᣖ ᡫᣃ 

  الحركة: 

𝑥ୡୟ୰ ൌ 𝑥୆ ൅ 𝑣௫,ୡୟ୰𝑡    →    𝑥ୡୟ୰ ൌ 45 m ൅ 𝑣௫,ୡୟ୰ሺ0ሻ ൌ 45 m 

ᢝᣖ حركته يᘘدأ  ᡫᣄعند الزمن سكونمن الال )𝑡୆ ൌ m 3( ) بتعجᘭل ثاᗷت0 sଶ⁄(  دا عنᘭعᗷ نقطة

𝑥௙ستخدم المعادلة (ᙏلذلك الأصل.  ൌ 𝑥௜ ൅ 𝑣௫௜𝑡 ൅
ଵ

ଶ
𝑎௫𝑡ଶ لإ ( جادᘌ زمنأي  عند  موضعه )𝑡(   ما᛿

 : ᢝᣢᘌ  

𝑥௙ ൌ 𝑥௜ ൅ 𝑣௜௫𝑡 ൅
ଵ

ଶ
𝑎௫𝑡ଶ       →       𝑥୲୰୭୭୮ୣ୰ ൌ 𝑥୆ ൅ 𝑣଴,୲୰୭୭୮ୣ୰𝑡 ൅

ଵ

ଶ
𝑎௫𝑡ଶ 

𝑥୲୰୭୭୮ୣ୰ ൌ 0 ൅ ሺ0ሻ𝑡 ൅
1
2

𝑎௫𝑡ଶ 

𝑥୲୰୭୭୮ୣ୰ ൌ
1
2

𝑎௫𝑡ଶ 
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ᢝᣖ مواضع السᘭارة وال ᗷمساواة ᡫᣄ ل اᘭلتمث ᢝᣖ ᡫᣄلتحاق ال ᗷ ارةᘭعند الموضع السC كون لديناᘌ  

𝑥୲୰୭୭୮ୣ୰ ൌ 𝑥ୡୟ୰ 

1
2

𝑎௫𝑡ଶ ൌ 𝑥୆ ൅ 𝑣௫,ୡୟ୰𝑡 

ଵ

ଶ
𝑎௫𝑡ଶ െ 𝑣௫,ୡୟ୰𝑡 െ 𝑥୆ ൌ 0     

   
ଵ

ଶ
ሺ3ሻ𝑡ଶ െ ሺ45ሻ𝑡 െ 45 ൌ 0    →  1.5𝑡ଶ െ 45𝑡 െ 45 ൌ 0      

𝑡ଶ െ 30𝑡 െ 30 ൌ 0      

𝑡 ൌ 31 m   

 ᚽ Freely Falling Objectsشᜓل حر  الأجسام الساقطة 2.5

ᗷغض  فقط، gravity (أي جسم يتحرك ᗷحᗫᖁة تحت تأثᢕᣂ الجاذبᘭة هو  سقوطا حرا الجسم الساقط 

 النظر عن حركته الأولᘭة). 

  شارᛒ  ᣠل مقدار إᘭالرمز ( تعجᗷ السقوط الحر𝑔 .( ان) مةᘭق𝑔 ادة الارتفاع فوقᗫناقص مع زᙬت (

ᢝ ( ذلك،سطح الأرض. علاوة عᣢ مستوى 
ᡧ

ᣚ فةᘭتحدث اختلافات طف𝑔 ات ᢕᣂمع حدوث تغي (

ᢝ خط العرض
ᡧ

ᣚ الأرض،سطح مستوى عند ᚛شᜓل عام و . للأرض ᘭساوي قᘻ) مة𝑔 ᢝᣠحوا ( 

9.80 m sଶ⁄ . 

  تكونلاحظ أن الحركة ᗷالمحور  (الاتجاە عموديالاتجاە ال 𝑦 ᢝ
ᡨᣛدلا من الاتجاە الأفᗷ (  محور ᣢع 

)𝑥( 

  مة ان تكون نختارᘭق )𝑔 ൌ െ9.80 m 𝑠ଶ⁄ة أن ت) ، حᘘالإشارة السال ᢝ
ᡧᣎث تعᘭلᘭالسقوط  عج

 . ᘌكون للأسفلجسم الحر لل

ሺ20 mمقدارها  ᣄᚽعة ابتدائᘭة عᣢالأ  من سطح بناᘌة اᣠحجر  قذف ): 2.4مثال ( s⁄ ሻ رتفاع لا و وصل

ሺ50 mሻ  نسطح الأرض، مستوى فوق᜻الأسفل عند عودته ل ᣠصطدم لم إᘌ ة   حافة سقفᘌما البنا᛿

ᢝ الشᜓل أدناە. 
ᡧ

ᣚ هو موضح   
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)A استخدامᗷ (𝑡୅ ൌ ك فᘭه حجر ᘌد ال للزمن 0 ᡨᣂالذي ي ᢝᣤالموضع  را ᢝ
ᡧ

ᣚA .صل  زمنال احسبᘌ الذي

  ؟فوق سطح البناᘌة فᘭه الحجر إᣠ أقᣕ ارتفاع له

𝑣௙௫ستخدم المعادلة (ᙏ : حلال ൌ 𝑣௜௫ ൅ 𝑎௫𝑡ارتفاع  زمن) لحساب ال ᣕأق ᣠه الحجر إᘭصل فᘌ الذي

B دل الحرفᘘᙬسᛒ ثᘭح ،𝑥  الحرفᗷ𝑦  ᢝᣠالمحور الشاقو ᣢان الحركة ع ᣢدلالة ع 

𝑣௙௬ ൌ 𝑣௜௬ ൅ 𝑎௬𝑡   →   𝑡஻ ൌ
௩೑೤ି௩೔೤

௔೤
 

ᗷ ᢝالإشارة السالᘘة كون ان اتجاهه دائما نحو الأسفل فᘭكون
ᡧᣔل الأرᘭمة التعجᘭدائما نعوض عن ق  

𝑡஻ ൌ
0 െ 20
െ9.80

ൌ 2.04 s 

)B ( ارتفاع  جد ᣕه اأقᘭصل الᘌلحجر؟  

ᢝ الالحل: 
ᡧ

ᣚ ما᛿عᖁف )A ،( ة نختارᘭة والنهائᘭة  النقاط الأولᘌة ونهاᘌداᗷ الرحلة اعندᣢالاع ᣠ .جعلᗷ 

)𝑦୅ ൌ ᢝ المعادلة ( )A(فᖁع من ال زمن المحسوبال تعᗫᖔض) و 0
ᡧ

ᣚ𝑥௙ ൌ 𝑥௜ ൅ 𝑣௜௫𝑡 ൅
ଵ

ଶ
𝑎௫𝑡ଶ (

الحركة شاقولᘭه. وᗖذلك سᘭكون  ان ل᜻ون ᗷ𝑦الحرف  𝑥الحرف مع ملاحظة اسᘘᙬدال  أقᣕ ارتفاع لإᘌجاد 

ᢝᣦ ᢝ نفسها   𝑦୫ୟ୶لتكون  𝑥௙الاسᘘᙬدال أᘌضا لــ 
ᡨᣎال𝑦୆ ون᜻النقطة  لB  ،ه الحجرᘭصل الᘌ ارتفاع ᣕاق
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 كونلت  𝑣௫௜، واسᘘᙬدال الᣄعة  Aوهو الموضع الذي قذف منه الحجر من النقطة   ᗷ𝑦୅ـ  𝑥௜واسᘘᙬدال 

𝑣௬୅ لᘭدال التعجᘘᙬا اس ᢕᣂوأخ ،𝑎௫  كونᘭل𝑎௬  :  

𝑥௙ ൌ 𝑥௜ ൅ 𝑣௜௫𝑡 ൅
ଵ

ଶ
𝑎௫𝑡ଶ      →       𝑦୫ୟ୶ ൌ 𝑦୆ ൌ 𝑦୅ ൅ 𝑣௬୅𝑡 ൅

ଵ

ଶ
𝑎௬𝑡ଶ 

𝑦୫ୟ୶ ൌ 0 ൅ ሺ20ሻሺ2.04ሻ ൅
1
2

ሺെ9.80ሻሺ2.04ሻଶ ൌ 20.4 m 

)Cمنه؟ ᢝ
ᡨᣛالارتفاع الذي أل ᣠعود إᘌ عة الحجر عندماᣃ حدد ( 

ᢝ قذف منها  اخᡨᣂ النقطة الأولᘭة
ᡨᣎالحجر  ال )A( ة ᢕᣂمر عليها  والنقطة الأخᘭس ᢝ

ᡨᣎال )C(  .لاحظ ان  نزولا

 ) تقعان عᣢ نفس الارتفاع من مستوى سطح الأرض. C) و (Aالنقطتان (

ᢝ المعادلة  لومةالقᘭم المع نعوض عن
ᡧ

ᣚ𝑣௙௫
ଶ ൌ 𝑣௜௫

ଶ ൅ 2𝑎௫൫𝑥௙ െ 𝑥௜൯ :  ارᘘأخذ بنظر الاعتᗷ

ᢝ هذە الحالة تكون: 
ᡧ

ᣚ دالاتᘘᙬالاس  

𝑣௙௫
ଶ ൌ 𝑣௜௫

ଶ ൅ 2𝑎௫൫𝑥௙ െ 𝑥௜൯       →      𝑣௬େ
ଶ ൌ 𝑣௬୅

ଶ ൅ 2𝑎௬ሺ𝑦େ െ 𝑦୅ሻ 

𝑣௬େ
ଶ ൌ ሺ20ሻଶ ൅ 2ሺെ9.80ሻሺ0 െ 0ሻ ൌ 400 mଶ sଶ⁄  

∴  𝑣௬େ ൌ െ20 m s⁄  

 ᢝᣙᘭᗖ ᡨᣂار للمعادلة اعلاە عند أخذ الجذر الᘭمكننا اختᘌ ، مةᘭنا وقد . البالجذر الموجب أو السق ᡨᣂالجذر  اخ

ᣃعة الحجر عند وصوله إᗖ  ᣠذلك نجد ان. و Cلأننا نعلم أن الحجر يتجه لأسفل عند النقطة  البالس

ᢝ قذف بها، الابتدائᘭةᗷالمقدار لᣄعته ارتفاعه الأصᢝᣢ مساوᗫة 
ᡨᣎس.  الᜧالاتجاە المعا ᢝ

ᡧ
ᣚ نها᜻ول   

)D عة وموضع الحجر عندᣃ الزمن  ) أوجد𝑡 ൌ 5 s ؟  

ة الحجر  ᗷعد رᢝᣤ  الابتدائᘭة ᗷالضᘘطالنقطة  نختار الحل:  ᢕᣂعد مرور  والنقطة الأخᗷ )𝑡 ൌ 5 s( .  

𝑣௙௫) من المعادلة (D( النقطة الᣄعة عند نحسب  ൌ 𝑣௜௫ ൅ 𝑎௫𝑡 :(  

𝑣௙௫ ൌ 𝑣௜௫ ൅ 𝑎௫𝑡      →     𝑣௬ୈ ൌ 𝑣௬୅ ൅ 𝑎௬𝑡 

𝑣௬ୈ ൌ 20 ൅ ሺെ9.80ሻሺ5ሻ ൌ െ29 m s⁄  

ᙏ) ستخدم المعادلة𝑥௙ ൌ 𝑥௜ ൅ 𝑣௜௫𝑡 ൅
ଵ

ଶ
𝑎௫𝑡ଶ ( جادᘌعد موضع الحجر  لإᗷ  مرور )𝑡 ൌ 5 s .(  
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𝑥௙ ൌ 𝑥௜ ൅ 𝑣௜௫𝑡 ൅
ଵ

ଶ
𝑎௫𝑡ଶ      →    𝑦ୈ ൌ 𝑦୅ ൅ 𝑣௬୅𝑡 ൅

ଵ

ଶ
𝑎௬𝑡ଶ 

𝑦ୈ ൌ 0 ൅ ሺ20ሻሺ5ሻ ൅
1
2

ሺെ9.80ሻሺ5ሻଶ ൌ െ22.5 m 
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Chapter 1 

(Measurements) 
To describe natural phenomena, we must make measurements of 

various aspects of nature. Each measurement is associated with a physical 

quantity, such as the length of an object. The laws of physics are 

expressed as mathematical relationships among physical quantities. 

In 1960, an international committee established a set of standards for the 

fundamental quantities of science. It is called the SI (System 

International), and its fundamental units of length, mass, and time are the 

meter, kilogram, and second, respectively. Other standards for SI 

fundamental units established by the committee are those for temperature 

(kelvin), electric current (ampere), luminous intensity (candela), and the 

amount of substance (mole). 

In mechanics, the fundamental quantities are length, mass, and time. 
All other quantities in mechanics can be expressed in terms of these three. 

Most other variables are derived quantities, those that can be expressed 

as a mathematical combination of fundamental quantities. Common 

examples are area (a product of two lengths) and speed (a ratio of a 

length to a time interval). Another example of a derived quantity is 

density.  
The density ρ (Greek letter rho) of any substance is defined as its 

mass per unit volume: 

 

 

 

 



Chapter 2 

(Motion in One Dimension) 

2.1   Position, Velocity, and Speed 

 position (x) is ( The location of the particle with 

respect to a chosen reference point that we can consider to be the 

origin of a coordinate system). 

 The displacement (  x) of a particle is defined as (its change in 

position in some time interval). As the particle moves from an 

initial position ( xi ) to a final position ( xf ), its displacement is 

given by: 

 x = xf - xi            Displacement             (2.1) 

We use change in a 

quantity. 

 From this definition, we see that (  x) is positive if (xf ) is greater 

than ( xi ) and negative if (xf )is less than ( xi). 

It is very important to recognize the difference between displacement 

and distance traveled.  

 Distance (is the length of a path followed by a particle). 

 Distance is always represented as a positive number, whereas 

displacement can be either positive or negative. 

 Displacement is an example of a vector quantity. Many other 

physical quantities, including position, velocity, and acceleration, 

also are vectors.  

 In general, a vector quantity requires the specification of both 

direction and magnitude. Scalar quantity has a numerical value 

and no direction. 



 The average velocity (vx,avg) of a particle is defined as (the 

( x) divided by the time interval ( t) 

during which that displacement occurs):      

vx,avg =       (2.2) 

         Where, the subscript (x) indicates motion along the (x-axis).  

From this definition we see that average velocity has dimensions of                  

length divided by time, or meters per second (m/s) in SI units. 

 The average velocity of a particle moving in one dimension can be 

positive or negative, depending on the sign of the displacement.  

 The time interval ( t) is always positive. 

If the velocity of a particle is constant, its instantaneous velocity at any 

instant during a time interval is the same as the average velocity over the 

interval. That is, vx = vx,avg.  

vx =  

Remembering that  x = xf - xi , we see that vx = (xf - xi ) / t , or 

xf  = xi + vx t 

In practice, we usually choose the time at the beginning of the interval to 

be ti= 0 and the time at the end of the interval to be tf = t, so our equation                 

becomes:                   xf  = xi + vx t   ( for constant vx )             (2.3) 

 The average speed (vavg) of a particle, a scalar quantity, is defined 

as (the total distance (d) traveled divided by the total time interval 

required to travel that distance): 

vavg =            (Average speed)                          (2.4) 

The SI unit of average speed is the same as the unit of average velocity: 

(meters per second)(m/s).  

 Average speed has no direction and is always expressed as a 

positive number. 

 



2.2  Instantaneous Velocity and Speed 

 The instantaneous velocity (vx) equals the limiting value of the 

ratio ( x/ t) as ( t) approaches zero: 

vx =                                              (2.5) 

In calculus notation, this limit is called the derivative of (x) with respect 

to (t), written (dx/dt):  

            vx =         (instantaneous velocity)                       (2.6)  

The instantaneous velocity can be positive, negative, or zero. 

 The instantaneous speed of a particle is defined as (the magnitude 

of its instantaneous velocity). As with average speed, instantaneous 

speed has no direction associated with it. 

Example (2.1): 

A particle moves along the (x  axis). Its position varies with time 

according to the expression: (x = - 4t + 2t2), where (x) is in meters and 

 (t) in seconds. 

(A) Determine the displacement of the particle in the time intervals    

(t = 0) to (t =1 s) and (t = 1 s) to (t =3 s). 

(B) Calculate the average velocity during these two time intervals. 

(C) Find the instantaneous velocity of the particle at (t = 2.5 s). 

Solution: 

(A): In the first time interval, (t = 0) to (t =1 s):            

 x = xf - xi 

 = [- 4 (1) + 2 (1)2]  [- 4 (0) + 2 (0)2] = - 2 m. 

For the second time interval (t = 1 s) to (t =3 s): 

 = [- 4 (3) + 2 (3)2]  [- 4 (1) + 2 (1)2] = + 8 m. 

 

(B): In the first time interval, use equation (2.2) with  t = tf - ti = 1 s: 



vx,avg =  =  =  

In the second time interval,  t = tf - ti = 2 s: 

vx,avg =  =  = +  

( C ): Instantaneous velocity       vx =   , x = - 4t + 2t2 

vx =  = - 4 + 4 t , at t = 2.5 s : 

vx = - 4 + 4 (2.5) = + 6  

2.3 Acceleration  

 When the velocity of a particle changes with time, the particle is 

said to be accelerating. 

 The average acceleration ( ax,avg ) of the particle is defined as  

(The change in velocity ( vx) divided by the time interval ( t) 

during which that change occurs): 

           ax,avg =  =                   Average acceleration    (2.7) 

The unit of acceleration is meters per second squared (m/s2). 
 

 The instantaneous acceleration equals the derivative of the velocity 

with respect to time: 

ax =               Instantaneous acceleration                       (2.8) 

 For the case of motion in a straight line, the direction of the 

velocity of an object and the direction of its acceleration are related 

as follows: 

same direction, the object is speeding up. On the other hand, when 

 the 

object is slowing down. 

 Because   vx = , the acceleration can also be written as: 

ax =  = = ( ) =                           (2.9) 



That is, in one-dimensional motion, the acceleration equals the second 

derivative of (x) with respect to time. 

 Example (2.2): 

The velocity of a particle moving along the (x- axis) varies according to 

the expression (vx = 40 - 5t2), where vx is in meters per second and (t) in 

seconds. 

(A) Find the average acceleration in the time interval (t = 0 to t = 2 s). 

(B) Determine the acceleration at t =2 s. 

Solution: 

(A)  vx1 = 40 - 5t2 = 40  5 (0)2 = 40 m/s 

vx2 = 40 - 5t2 = 40  5 (2)2 = 20 m/s 

ax,avg =  =  = - 10 m/s2 

The negative sign indicates that the particle is slowing down. 

(B)                      ax =  , vx = 40 - 5t2  

                   ax = - 10 t = -10 (2) = - 20 m/s2 

 

2.4  Particles under Constant Acceleration 
 

If the acceleration of a particle varies in time, its motion can be 

complex and difficult to analyze. A very common and simple type of one-

dimensional motion, however, is that in which the acceleration is 

constant. In such case, the average acceleration (ax,avg) over any time 

interval is numerically equal to the instantaneous acceleration (ax) at any 

instant within the interval, and the velocity changes at the same rate 

throughout the motion. This situation is considered to be the          

particle under constant acceleration. 

If we replace (ax,avg ) by (ax) in equation (2.7) and take ti = 0 and ( tf ) to 

be any later time ( t), we find that: 
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 )Vectorsالمتجهات (

 Vectors and Scalar Quantities والعددᘌةالمتجه  الᝣمᘭات 3.1

  ةتحددᘌة العددᘭمᝣال Scalar Quantity  مةᘭقᗷ املᝣالᗷة ولا  منفردةᘘكونمع وحدة مناسᘌ  

 لها اتجاە. 

 . زمنوال نطلاق،والا  ،وال᜻تلة ،والحجم، الحرارة درجة الᝣمᘭات العددᘌة ᢝᣦ ثلة عᣢ موالأ 

  ة المتجهالتحددᘭمᝣ Vector Quantity  .اتجاە ᣠالإضافة إᗷ ةᘘامل برقم مع وحدة مناسᝣالᗷ 

  والᣄعة.  زاحةᢝᣦ الا ᝣمᘭة المتجهالمثلة عᣢ ومن الأ 

 ᗷ Some Properties of Vectorsعض خصائص المتجهات 3.2

 Adding Vectors المتجهات جمع

ᡧ ال جمععند  ᢕᣌالمتجه ( متجه𝐴  و المتجه𝐵ሬ⃗( كونᘌ عᖔب عن مستقلا الجمع  مجمᛳالمتجهات مᜓان ترت 

عرف. ᗷال سᘘة لإشارة الجمع
ُ
  ): جمعلعملᘭة ال Commutative التᘘادل قانون( ᗷاسم الخاصᘭة هذە ت

𝐴 ൅ 𝐵ሬ⃗ ൌ 𝐵ሬ⃗ ൅ 𝐴 

 

  : Associativeالجمع  تراᗷط الحدود لعملᘭة قانونᘻسᣥ  لجمع المتجهات أخرى خاصᘭةوهناك 

𝐴 ൅ ൫𝐵ሬ⃗ ൅ 𝐶൯ ൌ ൫𝐴 ൅ 𝐵ሬ⃗ ൯ ൅ 𝐶 

 

 ة المتجه  ال متلكتᘭمᝣ لا من᛿ما أنها ت  والاتجاە، مقدار ال᛿ل خضع ᡧ ᢕᣌالمتجهات.  جمع قوان  
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 الإشارة السالᘘة للمتجه

ᘌ لمتجه سالب اف عر𝐴  أنه المتجه الذي عندᗷ جمعه مع المتجه𝐴   ᢝᣗعᘌ ساويᛒ عᖔهذا . صفر  مجم 

 ᢝ
ᡧᣎعᘌ،   

𝐴 ൅ ൫െ𝐴൯ ൌ ൫െ𝐴൯ ൅ 𝐴 ൌ 0 

.  تتجهل᜻ن  مقدار ال نفسلها  ൫െ𝐴൯و  𝐴 المتجهاتأي ان  ᡧ ᢕᣌسᜧمتعا ᡧ ᢕᣌاتجاه ᢝ
ᡧ

ᣚ  

 طᖁح المتجهات

൫𝐴 العملᘭة حᘭث نعرف. للمتجه الᘘةالسالإشارة ᘻستخدم تعᗫᖁف  اتطᖁح المتجهعملᘭة ان  െ 𝐵ሬ⃗ ൯ 

൫െ𝐵ሬ⃗المتجه و᛿أن  ൯ جمعᘌ  مع المتجه൫𝐴൯   : ᢝᣢᘌ ما᛿  

𝐴 െ 𝐵ሬ⃗ ൌ 𝐴 ൅ ൫െ𝐵ሬ⃗ ൯ 

ᢝ يوضح الشᜓل الا
ᡨᣍ  :قةᗫᖁبهذە الط ᡧ ᢕᣌح متجهᖁلط ᢝᣒشاء الهندᙏالإ  

  

 Components of a Vector and Unit Vectors متجهات الوحدةو  المتجه ركᘘاتم 3.3

  Components of a Vectorالمتجه  ركᘘاتم

 . ركᘘاتهموساطة ᗷالᝣامل ب متجهأي  ᘌمكن وصف

ᘌ  ᢝكون  𝐴المتجه النظر نأخذ بنظر الاعتᘘار 
ᡧ

ᣚ المستوى )𝑥𝑦 و (صنعᗫ ) ةᗫزاو𝜃 المحور ) مع𝑥  الموجب

ᢝ الشᜓل أدناە. 
ᡧ

ᣚ ᡧ ᢕᣌما هو مب᛿  
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المركᘘة  و )، 𝐴௫(و𝑥  ᢝᣦ ‐ لمحور ᗫة لمواز المتجه ال مركᘘةعᣢ أنه مجمᖔع  ᘌمكن التعبᢕᣂ عن هذا المتجه

)𝐴௬( ال ᢝ
ᡨᣎ  المحور  يتواز ‐ 𝑦 .  

𝐴 ൌ 𝐴௫ ൅ 𝐴௬ 

  ᗷان تمام، نرى ‐وتعᗫᖁف الجᘭب وجᘭب اعلاە من الشᜓل

cos 𝜃 ൌ
஺ೣ

஺
     →   𝐴௫ ൌ 𝐴 cos 𝜃 

sin 𝜃 ൌ
஺೤

஺
     →   𝐴௬ ൌ 𝐴 sin 𝜃 

 : معادلات الاتᘭةال خلال من ركᘘاتهᗷم) 𝐴( المتجه واتجاە᛿ل من مقدار   يرتᘘط

  𝐴مقدار المتجه 

𝐴 ൌ ට𝐴௫
ଶ ൅ 𝐴௬

ଶ  

  𝐴اتجاە المتجه 

𝜃 ൌ tanିଵ ൬
𝐴௬

𝐴௫
൰ 

 Unit Vectors متجهات الوحدة

).  ᗷالضᘘط،واحد  مقدارە(متجه ᗷدون أᗷعاد  Unit Vectorمتجه الوحدة  ᡧ ᢕᣌد اتجاە معᘌستخدم لتحدᚱو 

ᘻ ᢝشᢕᣂ إᣠ الاتجاهات الموجᘘة𝑘෠ و  𝚥̂و  𝚤̂ ستخدم الرموز عᣢ التواᢝᣠ (س
ᡨᣎل متجهات الوحدة الᘭلتمث ( 

  . )𝑧و  𝑦و  𝑥( للمحاور 

ᢝ )1( واحد  ساوي᛿ᘻل وحدة متجه   ان مقدار 
ᡧᣎعᘌ ساوي واحد.  ان ؛ هذاᘻ مة المطلقة لهاᘭالق  

|𝚤 ̂| ൌ |𝚥̂| ൌ ห𝑘෠ห ൌ 1 

𝐴௫ ൌ 𝚤𝐴̂௫    ,   𝐴௬ ൌ 𝚥̂𝐴௬ 
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:   ᗷدلالة متجه الوحدة ᘌ𝐴كتب المتجه لذلك،  ᢝᣢᘌ ما᛿  

𝐴 ൌ 𝚤̂𝐴௫ ൅ 𝚥̂𝐴௬ 

 

  ارᘘتقعنقطة خذ بنظر الاعت  ᢝ
ᡧ

ᣚالمستوى 𝑥𝑦  ᢝ
ᡧ

ᣚات الᘭةالإحداثᗫ ᡧ ᢕᣂارتᝣ )𝑦 ، 𝑥 الشᜓل ᢝ
ᡧ

ᣚ ما᛿ (

  أدناە. 

  

  : ᛿ما ᢝᣢᘌ   الوحدة متجه ᗷدلالة ᘌكتب الذي )ᘌ)𝑟مكن تحدᘌد النقطة بواسطة متجه الموضع 

𝑟 ൌ 𝑥 𝚤̂ ൅ 𝑦 𝚥̂ 

 ه ــلة المتجــــان محص𝑅ሬ⃗ ൌ 𝑅ሬ⃗ ௫ ൅ 𝑅ሬ⃗ ௬ ـــج عن جمـــــــالنات ᡧ ᢕᣌع متجه𝐴 ൌ ൫𝐴௫ 𝚤̂ ൅ 𝐴௬ 𝚥̂൯  و

𝐵ሬ⃗ ൌ ൫𝐵௫ 𝚤̂ ൅ 𝐵௬ 𝚥̂൯  ᣗتع  

𝑅ሬ⃗ ൌ ൫𝐴௫ 𝚤̂ ൅ 𝐴௬ 𝚥̂൯ ൅ ൫𝐵௫ 𝚤̂ ൅ 𝐵௬ 𝚥̂൯ 

𝑅ሬ⃗ ൌ ሺ𝐴௫ ൅ 𝐵௫ሻ𝚤̂ ൅ ൫𝐴௬ ൅ 𝐵௬൯𝚥̂ 

𝑅ሬ⃗ل᜻ون ان  ൌ 𝑅௫ 𝚤̂ ൅ 𝑅௬ 𝚥̂  اعلاەن ᡧ ᢕᣌمقارنة ذلك مع المعادلتᗷ ات أن  جدᘘم مركᘭالمتجهق 

𝑅ሬ⃗  : ᢝᣦ  

𝑅௫ ൌ 𝐴௫ ൅ 𝐵௫       ,    𝑅௬ ൌ 𝐴௬ ൅ 𝐵௬  

  الاتᘭة:  العلاقة ᗷاستخدام مركᘘاته من ᘌحصل عليهما  𝑅ሬ⃗المتجه  لذلك قᘭمة
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𝑅 ൌ ට𝑅௫
ଶ ൅ 𝑅௬

ଶ ൌ ටሺ𝐴௫ ൅ 𝐵௫ሻଶ ൅ ൫𝐴௬ ൅ 𝐵௬൯
ଶ

 

ᘌ ᢝصنعها و 
ᡨᣎة الᗫالزاو ᣠة اᘘال سᗷ اتجاهه ᣗعᘌ المحور  مع ‐ 𝑥   

tan 𝜃 ൌ
𝑅௬

𝑅௫
ൌ

𝐴௬ ൅ 𝐵௬

𝐴௫ ൅ 𝐵௫
 

∴ 𝜃 ൌ tanିଵ ൬
𝐴௬ ൅ 𝐵௬

𝐴௫ ൅ 𝐵௫
൰ 

، فᘭمكن التعب𝑧(  ᢕᣂو  𝑦و  ᗷ)𝑥اتجاە المحاور  ركᘘاتعᣢ ثلاثة م انᘌحت𝐵ሬ⃗ ᗫᖔو   𝐴من المتجهان  إذا ᛿ان ᛿لا 

ᢝ امعنه
ᡧ

ᣚ لا : ᢝ
ᡨᣍشᜓل الا  

𝐴 ൌ 𝚤𝐴̂௫ ൅ 𝚥̂𝐴௬ ൅ 𝑘෠𝐴௭ 

𝐵ሬ⃗ ൌ 𝚤𝐵̂௫ ൅ 𝚥̂𝐵௬ ൅ 𝑘෠𝐵௭ 

  ᡧ ᢕᣌان جمع المتجه𝐴   و𝐵ሬ⃗   العلاقةᗷ ᣗعᘌ𝑅ሬ⃗ ൌ 𝐴 ൅ 𝐵ሬ⃗  : ᢝᣢᘌ ما᛿ اتهᘘدلالة مركᗷ ᣗعᘌ او  

𝑅ሬ⃗ ൌ ൫𝚤𝐴̂௫ ൅ 𝚥̂𝐴௬ ൅ 𝑘෠𝐴௭൯ ൅ ൫𝚤𝐵̂௫ ൅ 𝚥̂𝐵௬ ൅ 𝑘෠𝐵௭൯ 

𝑅ሬ⃗ ൌ ሺ𝐴௫ ൅ 𝐵௫ሻ𝚤̂ ൅ ൫𝐴௬ ൅ 𝐵௬൯𝚥̂ ൅ ሺ𝐴௭ ൅ 𝐵௭ሻ𝑘෠  

𝐴مجمᖔع متجᢝᣧ الإزاحة  جد  ): 3.1مثال ( ൌ ሺ2𝚤̂ ൅ 2𝚥̂ሻm  و𝐵ሬ⃗ ൌ ሺ2𝚤̂ െ 4𝚥̂ሻm الواقعان  ᢝ
ᡧ

ᣚ 

  .  𝑥𝑦 المستوى

  محصلة المتجه الناتج عن الجمع الاتجاᢝᣦ تعᣗ  الحل: 

𝑅ሬ⃗ ൌ 𝐴 ൅ 𝐵ሬ⃗  

𝑅ሬ⃗ ൌ ሺ2𝚤̂ ൅ 2𝚥̂ሻ ൅ ሺ2𝚤̂ െ 4𝚥̂ሻ 

𝑅ሬ⃗ ൌ ሺ2 ൅ 2ሻ𝚤̂ ൅ ሺ2 െ 4ሻ𝚥̂ 

𝑅ሬ⃗ ൌ 4𝚤̂ െ 2𝚥̂ 

𝑅௫الناتج 𝑅ሬ⃗ ᢝᣦ لذلك مركᘘات المتجه  ൌ 4 m   و𝑅௬ ൌ െ2 m 

  ᘌعᗷ ᣗــ 𝑅ሬ⃗ و مقدار المتجه 

𝑅 ൌ ට𝑅௫
ଶ ൅ 𝑅௬

ଶ ൌ ඥሺ4ሻଶ ൅ ሺെ2ሻଶ ൌ √20 ൌ 4.5 m 

  ᘌعᗷ ᣗــ  𝑅ሬ⃗ واتجاە المتجه 
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tan 𝜃 ൌ
𝑅௬

𝑅௫
ൌ

െ2
4

ൌ െ0.5 

∴ 𝜃 ൌ tanିଵሺെ0.5ሻ ൌ െ27୭ 

ᢝ اتجاە عقارب الساعة من 27୭عᣢ أنها  تصحᘭحة إذا فᣄ تكون هذە الإجاᗷة 
ᡧ

ᣚ  المحور 𝑥 .  

بال 3.4 ᡧᣆ العددي Scalar Product 

بف الᘌُعر  ᡧᣆ  ᡧ ᢕᣌالعددي لأي متجه𝐴   و𝐵ሬ⃗ أنهᗷ )ةᘭم᛿ ةᘌساوي عددᘻ ب  ناتج ᡧᣅ ــهماᗫبمع  مقدارᘭج 

𝜃  ᢝ لزاوᗫةا تمام
ᡨᣎنهما الᚏب :(   

𝐴 ∙ 𝐵ሬ⃗ ൌ 𝐴 𝐵 cos 𝜃 

ᘌ ب العددي للكتب ᡧᣆال ᡧ ᢕᣌمتجه𝐴   و𝐵ሬ⃗  الشᜓلᗷ𝐴 ∙ 𝐵ሬ⃗ ) ب وᛞسᚽ وضعᘘطلق رمز النقطة ، غالᘌ ا ما

 ᣢع ᢝᣗب النق ᡧᣆالᗷ ب العددي ᡧᣆال .(   

  ساويᛒ ب العددي ᡧᣆال𝐴 ∙ 𝐵ሬ⃗،  مة المتجهᘭق𝐴  اᗖو ᡧᣆم  ᢝ
ᡧ

ᣚ المتجه مسقط 𝐵ሬ⃗  المتجه ᣢع 𝐴  
𝐵 cos (أي ان  𝜃   (الشᜓل أدناە ᢝ

ᡧ
ᣚ ما هو موضح᛿   

  

بخصائص ال ᡧᣆ العددي Properties of the scalar product 

بال ᘌكون .1 ᡧᣆ  العدديᘭلᘌدᘘا تCommutative :  

𝐴 ∙ 𝐵ሬ⃗ ൌ 𝐵ሬ⃗ ∙ 𝐴 

بالᘌخضع  .2 ᡧᣆ  ــــعقانون لالعدديᗫالتوز Distributive ب: ل ᡧᣆل 

𝐴 ∙ ൫𝐵ሬ⃗ ൅ 𝐶൯ ൌ 𝐴 ∙ 𝐵ሬ⃗ ൅ 𝐴 ∙ 𝐶 

ب العددي  90୭(أي ان الزاوᗫة بᚏنهما ᘻساوي  𝐵ሬ⃗عمودᘌا عᣢ المتجه  𝐴إذا ᛿ان المتجه  .3 ᡧᣆفان ال (

𝐴بᚏنهما ᛒساوي  ∙ 𝐵ሬ⃗ ൌ 0 

ب  0୭(أي ان الزاوᗫة بᚏنهما ᘻساوي  بنفس الاتجاە 𝐵ሬ⃗موازᗫا للمتجه  𝐴إذا ᛿ان المتجه  .4 ᡧᣆفان ال (

𝐴العددي بᚏنهما ᘌعᗷ ᣗــ  ∙ 𝐵ሬ⃗ ൌ 𝐴𝐵 

 180୭(أي ان الزاوᗫة بᚏنهما ᘻساوي  متعاᢝᣓᜧ الاتجاە هما ول᜻ن 𝐵ሬ⃗موازᗫا للمتجه  𝐴إذا ᛿ان المتجه  .5

ب العددي بᚏنهما ᘌعᗷ ᣗــ  ᡧᣆفان ال (𝐴 ∙ 𝐵ሬ⃗ ൌ െ𝐴𝐵 
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6.  ᡧ ᢕᣌب العددي لمتجه ᡧᣆكون الᘌ𝐴  و𝐵ሬ⃗  ᡧ ᢕᣌما بᘭنهما فᚏة بᗫسالب الإشارة عندما تكون الزاو

)90୭ ൏ 𝜃 ൑ 180୭( 

ᡧ متجهات الوحدة بنفس  .7 ᢕᣌب العددي ب ᡧᣆساوي واحد أي انان الᛒ الاتجاە 

𝚤̂ ∙ 𝚤̂ ൌ 𝚥̂ ∙ 𝚥̂ ൌ 𝑘෠ ∙ 𝑘෠ ൌ 1 

ᡧ متجهات الوحدة  .8 ᢕᣌب العددي ب ᡧᣆان الᗷساوي  ات متعامدةاتجاهᛒصفر 

𝚤̂ ∙ 𝚥̂ ൌ 𝚥̂ ∙ 𝑘෠ ൌ 𝚥̂ ∙ 𝑘෠ ൌ 0 

ᡧ  انه ᘌمكنᗷعرفنا ساᗷقا  .9 ᢕᣌعن متجه ᢕᣂالتعب𝐴   و𝐵ሬ⃗  ᚽالنحو الا ᣢشᜓل متجه الوحدة ع ᢝ
ᡨᣍ : 

𝐴 ൌ 𝚤𝐴̂௫ ൅ 𝚥̂𝐴௬ ൅ 𝑘෠𝐴௭ 

𝐵ሬ⃗ ൌ 𝚤𝐵̂௫ ൅ 𝚥̂𝐵௬ ൅ 𝑘෠𝐵௭ 

  لذلك ᘌكون 

𝐴 ∙ 𝐵ሬ⃗ ൌ 𝐴௫𝐵௫ ൅ 𝐴௬𝐵௬ ൅ 𝐴௭𝐵௭ 

  وان

𝐴 ∙ 𝐴 ൌ 𝐴ଶ 

𝐴المتجهات  اذا ᛿ان ): 3.2مثال ( ൌ 2𝚤̂ ൅ 3𝚥̂   و𝐵ሬ⃗ ൌ െ𝚤̂ ൅ 2𝚥̂ 

)A ( نهما. ال جدᚏب العددي ب ᡧᣆ )B) ةᗫأوجد الزاو (𝜃ᚏنهما. ) ب  

 )A(الحل: 

𝐴 ∙ 𝐵ሬ⃗ ൌ ሺ2𝚤̂ ൅ 3𝚥̂ሻ ∙ ሺെ𝚤̂ ൅ 2𝚥̂ሻ ൌ െ2 ൅ 6 ൌ 4 

)B(  ة نطبق العلاقةᗫجاد الزاوᘌلإ𝐴 ∙ 𝐵ሬ⃗ ൌ 𝐴 𝐵 cos 𝜃  ᡧ ᢕᣌل من المتجه᛿ مةᘭجاد قᘌلذلك علينا إ .𝐴 

𝐴حᘭث ان قᘭمة  𝐵ሬ⃗و   ∙ 𝐵ሬ⃗  عᖁالف ᢝ
ᡧ

ᣚ تᛞقد حس)A( .  

𝐴 ൌ ට𝐴௫
ଶ ൅ 𝐴௬

ଶ ൌ ඥሺ2ሻଶ ൅ ሺ3ሻଶ ൌ √13 

𝐵 ൌ ට𝐵௫
ଶ ൅ 𝐵௬

ଶ ൌ ඥሺെ1ሻଶ ൅ ሺ2ሻଶ ൌ √5 

تᛳب العلاقة  ᡨᣂب𝐴 ∙ 𝐵ሬ⃗ ൌ 𝐴 𝐵 cos 𝜃 كون لديناᘌ ةᗫالزاو ᣢللحصول ع  

cos 𝜃 ൌ
𝐴 ∙ 𝐵ሬ⃗

𝐴 𝐵
ൌ

4

൫√13൯൫√5൯
ൌ

4

√65
 



 الثالثالفصل 

 

 
22

∴ 𝜃 ൌ cosିଵ ൬
4

√65
൰ ൌ 60.3୭ 

3.5  ᢝᣦب الاتجا ᡧᣆالVector Product 

 ᢝᣦب الاتجا ᡧᣆعرف الᘌ𝐴 ൈ 𝐵ሬ⃗ لأ ᡧ ᢕᣌي متجه 𝐴   و𝐵ሬ⃗ ، أنهᗷ الثالث المتجه 𝐶 مة ، الذي لهᘭق𝐴 𝐵 sin 𝜃 

𝐶حᘭث ان  ، ൌ 𝐴 ൈ 𝐵ሬ⃗  ᢝᣦب الاتجا ᡧᣆمة الᘭوق𝐶 ൌ 𝐴 𝐵 sin 𝜃  

  ـᗷ ضاᘌأ ᢝᣦب الاتجا ᡧᣆال ᣥسᚱوCross Product   

ب الاتجاᢝᣦ خصائص ال ᡧᣆ Properties of the vector product   

ب الاتجاᢝᣦ لᛳس .1 ᡧᣆا  ان الᘭلᘌدᘘت Commutative )   أي ان𝐴 ൈ 𝐵ሬ⃗ ൌ െ𝐵ሬ⃗ ൈ 𝐴 (إذا  ، لذلك 

ᢝ  المتجهات ترتᛳب بتغيᢕᣂ  قمنا 
ᡧ

ᣚ  ᢝᣦب الاتجا ᡧᣆجب ، الᘭعلينا  ف  ᢕᣂشارةالا  تغي .   

ب 180୭او  0୭(أي ان الزاوᗫة بᚏنهما ᘻساوي  𝐵ሬ⃗موازᗫا للمتجه  𝐴إذا ᛿ان المتجه  .2 ᡧᣆفان ال (

𝐴الاتجاᢝᣦ بᚏنهما ᘌعᗷ ᣗــ  ൈ 𝐵ሬ⃗ ൌ 𝐴 𝐵 sin 𝜃 ൌ 𝐴وان  0 ∙ 𝐴 ൌ 0 

ب  90୭(أي ان الزاوᗫة بᚏنهما ᘻساوي  𝐵ሬ⃗عمودᘌا عᣢ المتجه  𝐴إذا ᛿ان المتجه  .3 ᡧᣆفان ال (

 ᢝᣗعᘌ نهماᚏب ᢝᣦالاتجاห𝐴 ൈ 𝐵ሬ⃗ ห ൌ 𝐴𝐵 . 

ب الاتجاᢝᣦ لقانون  .4 ᡧᣆخضع الᘌــــعᗫالتوز Distributive  

𝐴 ∙ ൫𝐵ሬ⃗ ൅ 𝐶൯ ൌ 𝐴 ∙ 𝐵ሬ⃗ ൅ 𝐴 ∙ 𝐶 
بال ةمشتقان  .5 ᡧᣆ  الا ᢝᣦتجا ᣠة اᘘال سᗷ ) ات مثل ᢕᣂعض المتغᗷ𝑡 (تكون 

𝑑
𝑑𝑡

൫𝐴 ൈ 𝐵ሬ⃗ ൯ ൌ
𝑑𝐴
𝑑𝑡

ൈ 𝐵ሬ⃗ ൅ 𝐴 ൈ
𝑑𝐵ሬ⃗

𝑑𝑡
 

ᡧ متجهات الوحدة  .6 ᢕᣌب ᢝᣦب الاتجا ᡧᣆان ال)𝚤̂  و𝚥̂  و 𝑘෠ (  :ةᘭخضع للقواعد الاتᘌ 

 𝚤̂ ൈ 𝚤̂ ൌ 𝚥̂ ൈ 𝚥̂ ൌ 𝑘෠ ൈ 𝑘෠ ൌ 0 

 𝚤̂ ൈ 𝚥̂ ൌ 𝑘෠    و𝚥̂ ൈ 𝚤̂ ൌ െ𝑘෠  

 𝚥̂ ൈ 𝑘෠ ൌ 𝚤̂    و𝑘෠ ൈ 𝚥̂ ൌ െ𝚤̂  

 𝑘෠ ൈ 𝚤̂ ൌ 𝚥̂    و𝚤̂ ൈ 𝑘෠ ൌ െ𝚥̂ 
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𝐴 ن ـــــــــــــــــــــــــــــــــــــــــــــــلأي متجهᘭ يـــــــــــــــــــــــــــــلاتجاها ربـــــــــــــــــــضالن ـــــــعᢕᣂ ـــــــــن التعᘘـــــــــᘌمك ൌ 𝚤𝐴̂௫ ൅ 𝚥̂𝐴௬ ൅ 𝑘෠𝐴௭   و

𝐵ሬ⃗ ൌ 𝚤𝐵̂௫ ൅ 𝚥̂𝐵௬ ൅ 𝑘෠𝐵௭ ᚽةشᜓل المحدد determinant   ةالاᘭت :   

𝐴 ൈ 𝐵ሬ⃗ ൌ ቮ
𝚤̂ 𝚥̂ 𝑘෠

𝐴௫ 𝐴௬ 𝐴௭

𝐵௫ 𝐵௬ 𝐵௭

ቮ ൌ 𝚤̂ ฬ
𝐴௬ 𝐴௭

𝐵௬ 𝐵௭
ฬ ൅ 𝚥̂ ฬ

𝐴௭ 𝐴௫
𝐵௭ 𝐵௫

ฬ ൅ 𝑘෠ ฬ
𝐴௫ 𝐴௬

𝐵௫ 𝐵௬
ฬ 

ൌ 𝚤൫̂𝐴௬𝐵௭ െ 𝐴௭𝐵௬൯ ൅ 𝚥̂ሺ𝐴௭𝐵௫ െ 𝐴௫𝐵௭ሻ ൅ 𝑘෠൫𝐴௫𝐵௬ െ 𝐴௬𝐵௫൯ 

 

𝐴ن اتجهالم ᛿انإذا   ): 3.3مثال ( ൌ 2𝚤̂ ൅ 3𝚥̂  و𝐵ሬ⃗ ൌ െ𝚤̂ ൅ 2𝚥̂  المستوى ᢝ
ᡧ

ᣚ𝑥𝑦 جد .𝐴 ൈ 𝐵ሬ⃗  ضاᘌأ ،

𝐴تحقق من العلاقة  ൈ 𝐵ሬ⃗ ൌ െ𝐵ሬ⃗ ൈ 𝐴  

  ᙏستعمل المحددة الساᗷقة  الحل: 

𝐴 ൈ 𝐵ሬ⃗ ൌ อ
𝚤̂ 𝚥̂ 𝑘෠
2 3 0

െ1 2 0
อ ൌ 𝚤̂ ቚ3 0

2 0
ቚ ൅ 𝚥̂ ቚ0 2

0 െ1
ቚ ൅ 𝑘෠ ቚ 2 3

െ1 2
ቚ 

ൌ 𝚤ሺ̂0 െ 0ሻ ൅ 𝚥̂ሺ0 െ 0ሻ ൅ 𝑘෠ሾሺ2ሻሺ2ሻ െ ሺ3ሻሺെ1ሻሿ ൌ 7𝑘෠  

𝐴العلاقة من  ق للتحق ൈ 𝐵ሬ⃗ ൌ െ𝐵ሬ⃗ ൈ 𝐴  : ᢝᣢᘌ ما᛿ قةᗫᖁستعمل نفس الطᙏ  

𝐵ሬ⃗ ൈ 𝐴 ൌ อ
𝚤̂ 𝚥̂ 𝑘෠

െ1 2 0
2 3 0

อ ൌ 𝚤̂ ቚ2 0
3 0

ቚ ൅ 𝚥̂ ቚ0 െ1
0 2

ቚ ൅ 𝑘෠ ቚെ1 2
2 3

ቚ 

ൌ 𝚤ሺ̂0 െ 0ሻ ൅ 𝚥̂ሺ0 െ 0ሻ ൅ 𝑘෠ሾሺെ1ሻሺ3ሻ െ ሺ2ሻሺ2ሻሿ ൌ െ7𝑘෠  

  لذلك العلاقة صحᘭحة. 

ᢝ اتجاە المحور  وᗫقعوحدات ) ᛒ6ساوي ( 𝐴المتجه مقدار  ): 3.4مثال (
ᡧ

ᣚ‐ 𝑥  .المتجه ومقدار الموجب

𝐵ሬ⃗ ) ساويᛒ4 ( مستو وحدات ᢝ
ᡧ

ᣚ قعᗫىو 𝑥𝑦  ، ة صانعاᗫ30مقدارها  زاو୭  مع المحور ‐ 𝑥 . جد𝐴 ൈ 𝐵ሬ⃗ 

  ᛿ما ᢝᣢᘌ   انᘌمكن كتاᗷة المتجه الحل: 

𝐴 ൌ 6𝚤̂ ൅ 0𝚥̂ ൅ 0𝑘෠  

𝐵ሬ⃗ ൌ ሺ4 cos 30୭ሻ𝚤̂ ൅ ሺ4 sin 30୭ሻ𝚥̂ ൅ 0𝑘෠  

𝐵ሬ⃗ ൌ ቀ4 ൈ √ଷ
ଶ

ቁ 𝚤̂ ൅ ቀ4 ൈ ଵ
ଶ
ቁ 𝚥̂ ൅ 0𝑘෠  

𝐵ሬ⃗ ൌ 2√3𝚤̂ ൅ 2𝚥̂ ൅ 0𝑘෠  
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𝐴 ൈ 𝐵ሬ⃗ ൌ ቮ
𝚤̂ 𝚥̂ 𝑘෠
6 0 0

2√3 2 0
ቮ ൌ 𝚤̂ ቚ0 0

2 0
ቚ ൅ 𝚥̂ ฬ

0 6
0 2√3

ฬ ൅ 𝑘෠ ฬ
6 0

2√3 2
ฬ 

ൌ 𝚤ሺ̂0 െ 0ሻ ൅ 𝚥̂ሺ0 െ 0ሻ ൅ 𝑘෠ൣሺ6ሻሺ2ሻ െ ሺ0ሻ൫2√3൯൧ ൌ 12𝑘෠  
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ᗷ ᢝعدين
ᡧ

ᣚ الحركة) Motion in Two Dimensions( 

 تعجᘭلالموضع والᣄعة وال متجهات 4.1

 الإحداثᘭات نظام أصلنقطة  من المرسوم ،ሻ𝑟ሺ موضعالمتجه طة اسالجسᘭم بو  ضعنᘘدأ بوصف مو 

ᣠم موقع إᘭالجس  ᢝ
ᡧ

ᣚ المستوى )𝑥𝑦  ( ما᛿  موضح هو  ᢝ
ᡧ

ᣚ الشᜓل .  

 

 . ሻ𝑟௜ሺ طة متجه الموضعاسبو  وضحة) ، المAالنقطة ( ، ᘌكون الجسᘭم عند 𝑡௜عند الزمن ف

 ᢝ
ᡧ

ᣚلاحق  زمن𝑡௙كونᘌ ، مᘭعند النقطة ( الجسB بواسطة متجه الموضع  ضحة) ، الموሻ𝑟௙ሺ .   

ورة و  ᡧᣆالᗷ سᛳكون لᘌ المسار من (انA) ᣠإ (Bخط ( م اᘭم من  يتحرك ما عندو . ا مستقᘭالنقطة الجس)A (

ᣠالنقطة إ )Bال ᢝ
ᡧ

ᣚ (ةفاصل ᘭةالزمن )∆𝑡 ൌ 𝑡௙ െ 𝑡௜ متجه الموضع من ᢕᣂيتغ ، (𝑟௜  ᣠإ𝑟௙ . 

ᡧ  الفرق( ᗷاعتᘘارە للجسᘭم) 𝑟∆( متجه الإزاحةف نعر الآن  ᢕᣌالموضع متجه ب  ᢝ
᡽ᣍالموضع ومتجه النها 

 ᢝᣠالأو :(   

∆𝑟 ൌ 𝑟௙ െ 𝑟௜                      ሺ4.1ሻ 

 مسار  طول عᣢ المقطوعة المسافة من أقل )𝑟∆( قᘭمة متجه الازاحة، فإن علاەأ ᛿ما نرى من الشᜓل

 ᢝ
ᡧᣎل المنحᘘع من قᖔم المقطᘭالجس .  

 ᘌ ᣗعةعᣄمتوسط ال )𝑣⃗ୟ୴ مᘭللجس (ةالفاصل خلال ᘭةالزمن )∆𝑡 ( إزاحة  قسمةحاصل من

 ةالزمنᘭ ةعᣢ الفاصل 𝑟∆ لجسᘭم ا

𝑣⃗ୟ୴ ൌ
∆𝑟 
∆𝑡

                  ሺ4.2ሻ 
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  ب أو ان ᡧᣅة مثل (  قسمةᘘة موجᘌة عددᘭم᛿ ᣢة المتجه عᘭم᛿∆𝑡 فقط ᢕᣂغᘌ ( مةمنᘭالمتجه،  ق

 موجᘘة،᛿مᘭة عددᘌة   ᢝᣦ  ةالزمنᘭ ةنظرا لأن الإزاحة ᛿ ᢝᣦمᘭة متجه والفاصلو ولᛳس اتجاهه. 

  ). 𝑟∆( الازاحة عᣢ طول تكونᙏسᙬنتج أن متوسط الᣄعة هو ᛿مᘭة متجه 

  ان ᣄالنقاط متوسط ال ᡧ ᢕᣌعن المسار.  ةمستقلكون تعة ب  

  عرف
ُ
 الᣄعة متوسط غاᘌة( ᗷأنها )  𝑣⃗( الᣄعة الآنᘭةت

∆௥⃗ 

∆௧
ب  عندما    ᡨᣂتق∆𝑡 الصفر من :(  

𝑣⃗ ൌ lim
∆→଴

∆𝑟 
∆𝑡

ൌ
𝑑𝑟 
𝑑𝑡

           ሺ4.3ሻ 

 ᣘمة  تدᘭعة الآ قᣄةمتجه الᘭن 𝑣 ൌ |𝑣⃗|  مᘭانها  للجسᗷما انطلاقᘭلجس ،  ᢝᣦة  وᘭم᛿ ةᘌعدد .  

  عرفᘌُ لمتوسطᘭتعج 𝑎⃗ୟ୴  عة الآᣄمتجه ال ᢝ
ᡧ

ᣚ ᢕᣂأنه (التغᗷ مᘭةللجسᘭن ∆𝑣⃗ ا مقسوم ᣢع 

ᢝ ال  𝑡∆ ةالزمنᘭ ةالفاصل
ᡨᣎحدث فيهᘌ  ا  :( ᢕᣂهذا التغي  

𝑎⃗ୟ୴ ൌ
∆𝑣⃗ 
∆𝑡

ൌ
𝑣⃗௙ െ 𝑣⃗௜

𝑡௙ െ 𝑡௜
                 ሺ4.4ሻ 

  هو ᛿مᘭة متجه.  عجᘭلمتوسط التان 

  عرفᘌُل التᘭالآعج ᢝ
ᡧ

ᣍ 𝑎⃗  )  انهᗷمة الᘭةقᘌة  غاᘘلل س
∆௩ሬ⃗  

∆௧
ب عندما    ᡨᣂتق ∆𝑡 الصفر من :(  

𝑎⃗ ൌ lim
∆→଴

∆𝑣⃗ 
∆𝑡

ൌ
𝑑𝑣⃗ 
𝑑𝑡

           ሺ4.5ሻ 
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ᢝ حركة ال 4.2
ᡧ

ᣚ عدᗷت ينᗷل ثاᘭبتعج Two‐Dimensional Motion with Constant 

Acceleration 

ᢝ الحركة   ᘌ modelledمكن نمذجة
ᡧ

ᣚ  عدينᘘو ال᛿ أنها ᡧ ᢕᣌمستقلحركت ᡧ ᢕᣌت independent   ل اتجاە᛿ ᢝ
ᡧ

ᣚ

ᢝ الاتجاە 𝑦و  𝑥من الاتجاهات العمودᘌة المرتᘘطة ᗷمحوري 
ᡧ

ᣚ ᢕᣂأن أي تأث ᡧᣎمعᗷ .𝑦  الحركة ᣢلا يؤثر ع

ᢝ الاتجاە 
ᡧ

ᣚ𝑥  .والعكس صحيح 

ᢝ اᘌمكن كتاᗷة مت
ᡧ

ᣚ م يتحركᘭىلمستو جه الموضع لجس 𝑥𝑦 : 

𝑟 ൌ 𝑥𝚤̂ ൅ 𝑦𝚥̂                    ሺ4.6ሻ 

  م تعᗷ ᣗالعلاقة: ᣃعة الجسᘭان و 

𝑣⃗ ൌ
𝑑𝑟
𝑑𝑡

ൌ
𝑑𝑥
𝑑𝑡

𝚤̂ ൅
𝑑𝑦
𝑑𝑡

𝚥̂ ൌ 𝑣௫𝚤̂ ൅ 𝑣௬𝚥̂                   ሺ4.7ሻ 

ᢝ أي و 
ᡧ

ᣚ ةᘭعة النهائᣄد الᘌزمنلتحد 𝑡   ،᛿ا م ᘌ ᢝᣢ : 

𝑣⃗௙ ൌ ሺ𝑣௜௫ ൅ 𝑎௫𝑡ሻ𝚤̂ ൅ ൫𝑣௜௬ ൅ 𝑎௬𝑡൯𝚥 ̂

ൌ ൫𝑣௜௫𝚤̂ ൅ 𝑣௜௬𝚥൯̂ ൅ ൫𝑎௫𝚤̂ ൅ 𝑎௬𝚥̂൯𝑡 

  معᗷ ᣗالعلاقة كدالة للزمن لذلك ᘌكون متجه الᣄعة  

𝑣⃗௙ ൌ 𝑣⃗௜ ൅ 𝑎⃗ 𝑡                          ሺ4.8ሻ 

 بنفس الطᗫᖁقة ᘌكون 

𝑥௙ ൌ 𝑥௜ ൅ 𝑣௜௫𝑡 ൅
1
2

𝑎௫𝑡ଶ 

𝑦௙ ൌ 𝑦௜ ൅ 𝑣௜௬𝑡 ൅
1
2

𝑎௬𝑡ଶ 

ᢝ المعادلة ( معادلات هذە ال بتعᗫᖔض
ᡧ

ᣚ𝑟 ൌ 𝑥𝚤̂ ൅ 𝑦𝚥̂ ᢝ
᡽ᣍة متجه الموضع النهاᘭسمᘻو) ( ـᗷ )𝑟௙ᘌ (كون :  

𝑟௙ ൌ ൬𝑥௜ ൅ 𝑣௜௫𝑡 ൅
1
2

𝑎௫𝑡ଶ൰ 𝚤̂ ൅ ൬𝑦௜ ൅ 𝑣௜௬𝑡 ൅
1
2

𝑎௬𝑡ଶ൰ 𝚥̂ 
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𝑟௙ ൌ ሺ𝑥௜𝚤̂ ൅ 𝑦௜𝚥̂ሻ ൅ ൫𝑣௜௫𝚤̂ ൅ 𝑣௜௬𝚥̂൯𝑡 ൅
1
2

൫𝑎௫𝚤̂ ൅ 𝑎௬𝚥̂൯𝑡ଶ 

  معᗷ ᣗالمعادلةفᘭكون متجه الموضع كدالة للزمن 

𝑟௙ ൌ 𝑟௜ ൅ 𝑣⃗௜𝑡 ൅
1
2

𝑎⃗𝑡ଶ                     ሺ4.9ሻ 

ᢝ المستوى جسᘭم يتحرك  ): 4.1مثال (
ᡧ

ᣚ𝑥𝑦  ، الزمن الأصل عند نقطة من مبتدأ )𝑡 ൌ  بتدائᘭةا) ᣄᚽعة 0

ሺ20 m قᘭمتها  𝑥 ‐ ركᘘة عᣢ محور لها م s⁄ ሻ محوروم ᣢة عᘘرك‐ 𝑦  متهاᘭق ሺെ15 m s⁄ ሻ  .خضعᘌ 

ᢝ اتجاە عجᘭلتلالجسᘭم 
ᡧ

ᣚ المحور‐ 𝑥 ،  مقدارᗷ )4 m sଶ⁄ .( 

)A ( متجهد حد  ᢝᣢᝣعة الᣄزمنأي  عند ال .  

نا مA( : الحل ᢔᣂات) تخᘘعة  ركᣄة الا الᘭالأسفلبتدائ ᣠលو ᡧ ᢕᣌمᘭالتحرك نحو الᗷ دأᘘم يᘭأن الجس   ᢝ
ᡧ

ᣚ ما᛿

:  الشᜓل ᢝ
ᡨᣍالا  

  

ᣄ)20 mعة 𝑥 ᚽ ‐ركᘘةᘘدأ المت s⁄ ( د وᘌا ᡧ ᡨᣂمقدار  تᗷ)4 m s ⁄ةᘭل ثانᝣاتجاە . ) لᗷ عةᣄة الᘘاما مرك𝑦 

െ15 m( بتدائᘭةالا  ا قᘭمتهطلقا عن تغᢕᣂ متلا فأنها  s⁄ .( 

𝑣⃗௙ ൌ 𝑣⃗௜ ൅ 𝑎⃗𝑡 

𝑣⃗௙ ൌ ሺ𝑣௜௫ ൅ 𝑎௫𝑡ሻ𝚤̂ ൅ ൫𝑣௜௬ ൅ 𝑎௬𝑡൯𝚥 ̂

𝑣⃗௙ ൌ ሺ20 ൅ 4𝑡ሻ𝚤̂ ൅ ሺെ15 ൅ 0𝑡ሻ𝚥̂ 

𝑣⃗௙ ൌ ሺ20 ൅ 4𝑡ሻ𝚤̂ െ 15𝚥̂         m s⁄  

(B)  عة وᣃ م عند  انطلاقاحسبᘭالزمن الجس )𝑡 ൌ 5 s ᢝ
ᡨᣎة الᗫصنعها ) والزاوᘌ عة  متجهᣄمع ال

  . 𝑥‐ المحور 
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  الحل: 

𝑣⃗௙ ൌ ሺ20 ൅ 4𝑡ሻ𝚤̂ െ 15𝚥̂ 

𝑣⃗௙ ൌ ሾ20 ൅ 4ሺ5ሻሿ𝚤̂ െ 15𝚥̂ 

𝑣⃗௙ ൌ ሺ40𝚤̂ െ 15𝚥̂ሻ             m s⁄  

 فتعᗷ ᣗالعلاقة 𝜃اما الزاوᗫة 

𝜃 ൌ tanିଵ ቆ
𝑣௬௙

𝑣௫௙
ቇ ൌ tanିଵ ൬

െ15
40

൰ ൌ െ21୭ 

 الموجب.  𝑥تحت المحور  𝜃بزاوᗫة  موجهالᣄعة  متجهأن إ𝜃  ᣠ السالᘘة للزاوᗫة شارةᘻشᢕᣂ الا 

  ᛿ما 𝑣⃗௙   ᢝᣢᘌمن قᘭمة الجسᘭم  وᗫحسب انطلاق

𝑣௙ ൌ ห𝑣⃗௙ห ൌ ට𝑣௫௙
ଶ ൅ 𝑣௬௙

ଶ ൌ ඥሺ40ሻଶ ൅ ሺ15ሻଶ ൌ 43 m s⁄  

)C(  ᢝ
ᡵᣍحدد إحدا𝑥  و𝑦  أي وقت ᢝ

ᡧ
ᣚ مᘭللجس𝑡 هذا ال هموضع و متجه ᢝ

ᡧ
ᣚزمن . 

𝑥௙ ൌ 𝑣௫௜𝑡 ൅
1
2

𝑎௫𝑡ଶ ൌ ሺ20𝑡 ൅ 2𝑡ଶሻ m 

𝑦௙ ൌ 𝑣௬௜𝑡 ൌ ሺെ15𝑡ሻ   m  

ᢝ أي ل الموضعمتجه فᘭكون 
ᡧ

ᣚ مᘭزمنلجس 𝑡 : 

𝑟௙ ൌ ൫𝑥௙𝚤̂ ൅ 𝑦௙𝚥̂൯ ൌ ሾሺ20𝑡 ൅ 2𝑡ଶሻ𝚤̂ െ 15𝑡𝚥̂ሿ    m 

  Projectile Motion مقذوفالحركة  4.3

ᢝ لعᘘة لاحظ  أي شخص نا
ᡧ

ᣚ رة᜻سبولحركة الᛳكون قد  البᘌ  ث  ،مقذوفاللاحظ حركةᘭرة ح᜻تتحرك ال

ᢝ وتعود إᣠ الأرض. 
ᡧᣎمسار منح ᢝ

ᡧ
ᣚ قانᗫᖁه ط᜻سلᘻ رةال الذي᜻،  هᘭسمᙏالمسار trajectory، كونᘌ  دائما 

᡽ عᣢ شᜓل 
ᡧ

ᣚقطع مᜓا parabola .  
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ة ت زمنكدالة لل  لمقذوفمتجه موقع ا معادلةإن  ᡫᣃاᘘبع مᙬ المعادلة𝑟௙ ൌ 𝑟௜ ൅ 𝑣⃗௜𝑡 ൅
ଵ

ଶ
𝑎⃗𝑡ଶ  ، ᢝ

ᡨᣎال 

𝑎⃗هو ، اذبᘭةᚽسᛞب الج ᘌكون تعجᘭلها  ൌ 𝑔⃗ كونت 

𝑟௙ ൌ 𝑟௜ ൅ 𝑣⃗௜𝑡 ൅
1
2

𝑔⃗𝑡ଶ                ሺ4.10ሻ 

 معطاة ᗷــ مقذوفالأولᘭة لᣄعة ال  𝑦و  𝑥 ركᘘاتحᘭث تكون م

𝑣௫௜ ൌ 𝑣௜  cos 𝜃௜         ,     𝑣௬௜ ൌ 𝑣௜  sin 𝜃௜ 

superposition  ᡧ تراᜧب و᛿أنها متكونة من ،ᘌمكن نمذجتها فانه ، مقذوفاتعند تحلᘭل حركة ال ᢕᣌحركت :

ᚽ ᢝ) حركة جسᘭم 1(
ᡨᣛالاتجاە الأف ᢝ

ᡧ
ᣚ عة ثابتةᣄ horizontal ) م 2وᘭحركة جس (لᘭالسقوط  بتعج) تᗷثا

ᢝ الاتجاە الfree fall الحر 
ᡧ

ᣚ ( عموديvertical .     

  

 ᢝ
ᡨᣛو المدى الأفᣕه اارتفاع  أقᘭصل الᘌلمقذوف Horizontal Range and Maximum Height 

of a Projectile 

ض ندع ᡨᣂالزمن الأصل عند نقطة من  قذفت كرة  انا نف 𝑡௜ ൌ ᢝ   ةموجᗷ 𝑣௬௜ ᘘمركᘘة 0
ᡧ

ᣚ ما هو موضح᛿

ᢝ عود تسان ال᜻رة  أعلاە،الشᜓل 
ᡧ

ᣚ هذ للأرض . ᢝ
ᡨᣛحالة  الةح ەنفس المستوى الأف ᢝᣦالألعاب  ةشائع ᢝ

ᡧ
ᣚ

   منه.  قذفتالغولف بنفس المستوى الذي  ةالقدم وكر  ةوكر  البᛳسبول ةحᘭث غالᘘا ما تهᘘط كر  الᗫᖁاضᘭة،

 ᢝ
ᡨᣍالشᜓل الا ᢝ

ᡧ
ᣚ هذە هناك ᢝ

ᡧ
ᣚ شᜓل خاص نقطتانᚽ ة للاهتمام ᢕᣂلعلينا الحركة مثᘭها تحل :  
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 قمةنقطة ال A اتᘭإحداث ᢝ
ᡨᣎة ها الᗫ ᡧ ᢕᣂارتᝣال )𝑅 2⁄ , ℎ( ،صل له المقذوفᘌ ارتفاع ᣢاع ᢝᣦ .  

  النقطةB ) اتᘭلها إحداث ᢝ
ᡨᣎال𝑅, 0( ، ᢝᣦالمقذوف.  هبوط نقطة  

 ) المسافة ᣥسᘻ𝑅 ( ᢝ
ᡨᣛوالمسافة (مقذوفلل المدى الأف ،ℎ ᢝᣦ (ارتفاع ᣕصل ا أقᘌلᘭه . 

 ᗷحدود ᛿ل من ᣃعة) رᗫاضᘭا 𝑅(مداە ) و ℎ( صل له المقذوف᛿ل من اقᣕ الارتفاع الذي ᘌ  جد دعنا ن

ᢝ اطلق و 𝑣௜  اطلاق المقذوف
ᡨᣎة الᗫبها  الزاو  𝜃௜ و ᢝ

ᡧᣔل الارᘭالتعج 𝑔 : 

ᢝ  هأن ᗷملاحظة) ℎ(اقᣕ الارتفاع ᘌمكننا تحدᘌد 
ᡧ

ᣚالصفر  القمة ᣠة اᗫعة مساوᣄتكون ال 𝑣௬஺ .،لذلك 

𝑣⃗௙للمعادلة ( 𝑦 ركᘘةᘌمكننا استخدام م ൌ 𝑣⃗௜ ൅ 𝑎⃗ 𝑡د الᘌزمن) لتحد  𝑡஺ هᘭصل فᘌ مقذوفالالذي  ᣠإ

  حᘭث قمة ارتفاعه

𝑣⃗௙ ൌ 𝑣⃗௜ ൅ 𝑎⃗ 𝑡        →    𝑣⃗௙௬ ൌ 𝑣⃗௜௬ ൅ 𝑎⃗௬ 𝑡஺    →    0 ൌ 𝑣⃗௜௬ ൅ 𝑎⃗௬ 𝑡஺ 

𝑣௜௬ وحᘭث ان  ൌ 𝑣௜  sin 𝜃௜ ضᗫᖔتعᗖوሺെ𝑔ሻ  دلᗷ𝑎⃗௬ ة ᢕᣂتكون المعادلة الأخ 

0 ൌ 𝑣௜  sin 𝜃௜ െ 𝑔 𝑡஺ 

𝑡஺ ൌ
𝑣௜  sin 𝜃௜

𝑔
 

ᢝ ال ᗷ𝑡دل أعلاە  𝑡஺ معادلة بتعᗫᖔض
ᡧ

ᣚةᘘمرك 𝑦 ) من المعادلة𝑦 ൌ 𝑦௜ ൅ 𝑣௜௬𝑡 ൅
ଵ

ଶ
𝑎௬𝑡ଶدالᘘᙬواس ( 

𝑦 ساويᘻ ᢝ
ᡨᣎال 𝑦஺ أᗷصل له المقذوفᘌ ارتفاع ᣕق ℎ، ᘘمن نقطة  قاطل ار ان المقذوفواخذ بنظر الاعت

𝑦௜) أي ان 0,0الأصل ( ൌ 𝑣௜௬وان  0 ൌ 𝑣௜  sin 𝜃௜  دالᘘᙬواس ،𝑎௬  ـᗷ𝑔   ᣢلارتفاعلـ معادلةنحصل ع 

ℎ  حدودᗷ  ᢝᣠعة الأوᣄمقدار واتجاە متجه ال : ᢝᣢᘌ ما᛿   
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𝑦 ൌ 𝑦௜ ൅ 𝑣௜௬𝑡 ൅
1
2

𝑎௬𝑡ଶ 

ℎ ൌ 0 ൅ ሺ𝑣௜  sin 𝜃௜ሻ ൬
𝑣௜  sin 𝜃௜

𝑔
൰ െ

1
2

𝑔 ൬
𝑣௜  sin 𝜃௜

𝑔
൰

ଶ

 

ℎ ൌ
𝑣௜

ଶ sinଶ𝜃௜

𝑔
െ

1
2

𝑔
𝑣௜

ଶ sinଶ𝜃௜

𝑔ଶ  

ℎ ൌ
𝑣௜

ଶ sinଶ𝜃௜

2𝑔
 

 ᢝᣗصل له المقذوفهذە المعادلة تعᘌ ارتفاع ᣕاق .  

  ان المدى𝑅  مقذوفلا هبوط وضعمهو  ᢝ
ᡨᣛالأف، ᘌ ثᘭهذە النقطة ح ᣠصل ا ᢝ

ᡧ
ᣚ ساويᛒ زمن 

ان زمن تحليق المقذوف من اطلاقه حᘌ ᡨᣎصل أي  اعᣢ ارتفاع،صل فᘭه إᘌ ᣠالذي  زمنضعف ال

ᢝ  لنهاᘌة رحلته
ᡧ

ᣚ ) 0النقطة, 𝑅 كونᘌ (ال ᢝ
ᡧ

ᣚ  زمن𝑡஻ ൌ 2𝑡஺     

𝑡஻ معادلة بتعᗫᖔض ൌ 2𝑡஺  دلᗷ𝑡 ةᘘالمرك ᢝ
ᡧ

ᣚ 𝑥 ) من المعادلة𝑥 ൌ 𝑥௜௫ ൅ 𝑣௜௫𝑡 ൅
ଵ

ଶ
𝑎௫𝑡ଶ (

ᘻ ᢝساوي 𝑥 واسᘘᙬدال
ᡨᣎال 𝑅 صل له المقذوفᘌ ار ان المقذوف اطلق ، المدىᘘمن نقطة  واخذ بنظر الاعت

𝑥௜௫) أي ان 0,0الأصل ( ൌ 𝑣௜௫وان  0 ൌ 𝑣௜  cos 𝜃௜  دالᘘᙬواس ،𝑎௫ ൌ 0   ᣢعادلةمنحصل ع  𝑅 ما᛿

 : ᢝᣢᘌ 

𝑅 ൌ 𝑣௫௜𝑡஻ ൌ ሺ𝑣௜ cos 𝜃ሻሺ2𝑡஺ሻ 

𝑅 ൌ ሺ𝑣௜  cos 𝜃௜ሻ ൬
2𝑣௜  sin 𝜃௜

𝑔
൰ 

𝑅 ൌ
2𝑣௜

ଶ  sin 𝜃௜ cos 𝜃௜

𝑔
 

  ᗷاستخدام المتطاᗷقة الᗫᖁاضᘭة 

sin 2𝜃 ൌ 2 sin 𝜃 cos 𝜃 

ᢝ للمقذᘌكون 
ᡨᣛوفالمدى الاف   
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𝑅 ൌ
𝑣௜

ଶ  sin 2𝜃௜

𝑔
                  ሺ4.12ሻ 

 ᣢونحصل ع ᣕمةأقᘭللمدى ق 𝑅  ةمن المعادلة ᢕᣂمة  الاخᘭعندما تكون قsin 2𝜃௜ ൌ   حᘭث ᘌكون 1

𝑅୫ୟ୶ ൌ
𝑣௜

ଶ 
𝑔
 

2𝜃௜وهذا ᘌحدث عند الزاوᗫة  ൌ 90୭  ةᗫولذلك تكون الزاو𝜃௜ ൌ 45୭  ᣢنحصل منها ع ᢝ
ᡨᣎة الᗫالزاو ᢝᣦ

  اقᣕ مدى. 

 ): 4.2مثال (

ك  ᡨᣂضال فر الطلاعب يᗫᖁة   عᗫ20الأرض بزاو୭  ᢝ
ᡨᣛفوق المستوى الأف

m 11.0( و᚛ᣄعة s⁄ .( 

)A ( قفز الذي مدى ال جدᘌهᘭ؟اللاعب ال )B ( ارتفاع  جد ᣕهأقᘭصل الᘌ؟  

  ستخدم المعادلة A :(ᙏ( الحل: 

𝑅 ൌ
𝑣௜

ଶ  sin 2𝜃௜

𝑔
ൌ

ሺ11ሻଶ  sinሺ2 ൈ 20୭ሻ 

9.80
ൌ 7.94 m 

)B :( ستخدم المعادلةᙏ  

ℎ ൌ
𝑣௜

ଶ sinଶ𝜃௜

2𝑔
ൌ

ሺ11ሻଶ sinଶሺ20୭ሻ 

2 ൈ 9.80
ൌ 0.722 m 

 

  ሺ30୭ሻلأعᣢ بزاوᗫة اᣠ حجر من أعᣢ المبᡧᣎ  تم القاء ): 4.3مثال (

ᢝ المس عن
ᡨᣛتوى الأفᚽعةᣄ ةᘭ20.0قدرها ( ابتدائ m s⁄ ما هو᛿ (

ᢝ الشᜓل. 
ᡧ

ᣚ ت منه الحجارة هو ( الارتفاعان موضحᘭ45الذي ألق m (

   فوق سطح الأرض. 

)Aالأرض؟ ᣠستغرق الحجر للوصول إᛒ م من الوقت᛿ (   
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ᘌ ᢝد الرجل لذلك تكون 0,0نقطة الأصل (نأخذ بنظر الاعتᘘار ان ) A(الحل: 
ᡧ

ᣚ تقع (𝑥௜ ൌ 𝑦௜ ൌ 0 

  𝑦௙لك نطبق العلاقة ولذ
ൌ 𝑦௜ ൅ 𝑣௜௬𝑡 ൅

ଵ

ଶ
𝑎௬𝑡ଶ  ، ث انᘭح𝑣௜௬ ൌ 𝑣௜  sin 𝜃௜  وملاحظة

  فᘭكون    ᗷ𝑔ـ  𝑎௬واسᘘᙬدال 

𝑦௙ 
ൌ 𝑦௜ ൅ 𝑣௜௬𝑡 ൅

ଵ

ଶ
𝑎௬𝑡ଶ    →   𝑦௙  

ൌ 𝑦௜ ൅ 𝑣௜  sin 𝜃௜ 𝑡 ൅
ଵ

ଶ
𝑔𝑡ଶ 

െ45 ൌ 0 ൅ 20 ሺsin 30୭ሻ𝑡 ൅
1
2

ሺെ9.80ሻ𝑡ଶ 

െ45 ൌ 10 𝑡 ൅
1
2

ሺെ9.80ሻ𝑡ଶ 

𝑡 ൌ 4.22 s 

)Bᘌ ل أنᘘعة الحجر قᣃ ᢝᣦ صطدم) ما ᗷة؟ ᡫᣃاᘘالأرض م 

𝑣⃗௙نطبق المعادلة  : الحل ൌ 𝑣⃗௜ ൅ 𝑎⃗ 𝑡  دلᘘᙬسᙏ ثᘭح𝑎⃗  ـᗷെ𝑔  وكذلك𝑣⃗௜  ـᗷ𝑣௜௬ ൌ 𝑣௜  sin 𝜃௜    

𝑣⃗௙ ൌ 𝑣⃗௜ ൅ 𝑎⃗ 𝑡    →  𝑣௙௬ ൌ 𝑣௜  sin 𝜃௜ െ 𝑔 𝑡 

𝑣௙௬ ൌ 20 ሺsin 30୭ሻ െ 9.80 ൈ 4.22 ൌ െ31.3 m s⁄  

 

 

  

 

 

  

 

 

 



 
 

Chapter 3 
Vectors 

3.1 Vector and Scalar Quantities 

 A scalar quantity is completely specified by a single value with an 

appropriate unit and has no direction. 

Examples of scalar quantities are temperature, volume, mass, speed, and 

time intervals. 

 A vector quantity is completely specified by a number with an 

appropriate unit plus a direction. 

Examples of vector quantity are displacement and velocity. 

 

3.2 Some Properties of Vectors 
Adding Vectors 

When two vectors (vector  and vector  ) are added, the sum is 

independent of the order of the addition. This property is known as the 

(commutative law of addition): 

  

 

 

Another property is called the associative law of addition: 
 

 

 

 



 
 

 A vector quantity has both magnitude and direction and also obeys 

the laws of vector addition. 

Negative of a Vector 
 
The negative of the vector is defined as the vector that when added to  

gives zero for the vector sum. That is, . The vectors  and 

 (-   have the same magnitude but point in opposite directions. 

Subtracting Vectors 
 
The operation of vector subtraction makes use of the definition of the 

negative of a vector. We define the operation (  ) as vector 

added to vector  ):  

The geometric construction for subtracting two vectors in this way is 

illustrated in the figure below: 

 

 

3.3  Components of a Vector and Unit Vectors 

Components of a Vector 

Any vector can be completely described by its components. 

Consider a vector lying in the (xy plane) and making an angle ( ) 

with the positive (x-axis) as shown in the figure below. This vector can be 

expressed as the sum of two other component vectors ( x), which is 

parallel to the (x-axis), and y), which is parallel to the (y-axis).  



 
 

x + y 

 
From the figure and the definition of sine and cosine, we see that 

 = Ax / A) and that Ay / A). Hence, the components of  

Ax = A  and Ay = A  
 

The magnitude and direction of ( ) are related to its components through 

the expressions: 

      A=                       (magnitude of   ) 

 = )                    (direction of  ) 

 

Unit Vectors 

A unit vector is (a dimensionless vector having a magnitude of exactly 

one, and are used to specify a given direction). 

We shall use the symbols  , and  to represent unit vectors pointing 

in the positive (x, y, and z) directions, respectively. 

The magnitude of each unit vector equals 1; that is,  =1 

x = î  , y =  . Therefore, the unit-vector notation for the vector  is: 
 

î  

 



 
 

 Consider a point lying in the xy plane and having Cartesian 

coordinates (x, y) as in the figure below. The point can be specified 

by the position vector which in unit-vector form is given by: 

 

 

 

 

 

 

 

 The resultant vector (  =  ) is: 
 

 = (î ) + (î )  or 
 

 = î ) 
 

Because +   , we see that the components of the resultant 

vector are:   = ( ) and = ( ). 

The magnitude of     and the angle it makes with the (x- axis) are 

obtained from its components using the relationships: 

R =  =        Magnitude of  

 

 =               Direction of  

 If  both have three components ( x,y,z ), they can be 

expressed in the form:   

î  

î  

The sum of   is:  =             or 

= î ) + 
 



 
 

Example (3.1): 
 
Find the sum of two displacement vectors  lying in the xy plane 

and given by:      m   and      m. 

Solution: 

The resultant vector   :  =  = î ) 
                                                         = î ) 
The components of  :    m     and    -2 m 
 

The magnitude of    : R =  =  =  = 4.5 m 
 
The direction of  :  =  = - 0.5 

 
    
This answer is correct if we interpret it to mean 27° clockwise from  

the (x  axis). 

3.4  Scalar Product  

The scalar product of any two vectors  is defined as (a scalar 

quantity equal to the product of the magnitudes of the two vectors and the 

cosine of the angle  between them): 

  

We write scalar product of vectors  as   (Because of the dot 

symbol, the scalar product is often called the dot product). 

 The scalar product  equals the magnitude of   multiplied 

by the projection of  onto (B  as shown in the figure 

below. 

 
 

 
 

 



 
 

Properties of the scalar product: 

1. Scalar product is commutative: 
   

2. Scalar product obeys the distributive law of multiplication: 
 ) =    

3. If is perpendicular to  (  = 90° ), then  . 

4. If is parallel to  (  = 0° ), then  . 

5. If   = 180°, then  . 

6. The scalar product is negative when ( 90°    180°). 

 

 

Two vectors  and  can be expressed in unit vector form as: 
 = x + y + z 

 = x + y + z 

so      x x + y y + z z      = 2 . 

Example (3.2):  
 
The vectors  and  are given by:  =  +  and =  +  

(A)  Determine the scalar product   

(B)  Find the angle (  ) between  and  

Solution: 

(A)    +  )   + ) 

           =   +   

           =   

(B)  The magnitude of  :  A =  =  =                               

The magnitude of  :  B =  =  =       

 =  =   

60.3° 



 
 

3.5  Vector Product 

(Given any two vectors , the vector product  is defined 

as a third vector , which has a magnitude of  ). 

                                      Vector product 

C =                 magnitude of vector product 

 The vector product ) is also called (cross product). 

Properties of the vector product: 

1. It is not commutative (  Therefore, if you 

change the order of the vectors in a vector product, you must 

change the sign. 

2. If  is parallel to  (  = 0 or 180° ), then 

      and       

3. If  is perpendicular  to   (  = 90° ), then 

= AB 

4. The vector product obeys the distributive law: 

 

5. The derivative of the vector product with respect to some variable 

such as (t ) is:                 +  

 The cross products of the unit vectors  , and  ) obey the 

following rules:   

     ,                                 

       ,    

       ,      

The cross product of any two vectors   

can be expressed in the following determinant form: 



 
 

= î +  

=  (  

Example (3.3): 

Two vectors lying in the (xy plane) are given by the equations: 

 =  +  and =  +  

Find   and verify that (  

Solution: 

 +  )   + ) 

           =   ) +    

           = 0 + 4  + 3  + 0 = 7  

To verify that          : 

 =  + )  +  ) 

             = )   + )  +  +  

             = 0 - 3  - 4  + 0 = - 7  

Therefore      

Example (3.4): 

Vector  has a magnitude of 6 units and it is in the direction of 

positive x- axis. Vector  has a magnitude of 4 units and lies in xy- 

plane making an angle 30° with x- axis. Find  ? 

Solution: 

 = 6  +  +0  

 = 4   + 4  + 0   2 3  + 2  

    = 12  
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Chapter 4  
(Motion in Two Dimensions) 

4.1  The Position, Velocity, and Acceleration Vectors 
 
We begin by describing the position of the particle by its position 

vector ), drawn from the origin of some coordinate system to the 

location of the particle in the (xy plane) as shown in the figure. 

At time ti, the particle is at point (A), described by position vector i . 

At some later time tf , it is at point (B), described by position vector f . 

The path from (A) to (B) is not necessarily a straight line. As the particle 

moves from (A) to (B) in the time interval ( t = tf - ti), its position vector 

changes from i to f . 

We now define the displacement vector ( ) for a particle as being (the 

difference between its final position vector and its initial position vector): 

i - f                Displacement vector                         (4.1) 

 

 
As we see from the figure, the magnitude 

 of ) is less than the distance traveled  

along the curved  path followed by 

 the particle. 

 

                                                                            

 The average velocity ( ave) of a particle during the time interval 

( t) as the displacement of the particle divided by the time interval: 

ave =                          Average velocity                                 (4.2) 

 Multiplying or dividing a vector quantity by a positive scalar 

t) changes only the magnitude of the vector, not 




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its direction. Because displacement is a vector quantity and the 

time interval is a positive scalar quantity, we conclude that the 

average velocity is a vector quantity directed along ). 

 The average velocity between points is independent of the path 

taken. 

 The instantaneous velocity ( ) is defined as (the limit of the 

average velocity    as t approaches zero): 

 =                Instantaneous velocity             (4.3) 

 The magnitude of the instantaneous velocity vector  (v = ) of a 

particle is called the speed of the particle, which is a scalar 

quantity. 

 The average acceleration ave) of a particle is defined as (the 

change in its instantaneous velocity vector ( ) divided by the time 

interval t during which that change occurs): 

ave =  =                      Average acceleration                 (4.4) 

Average acceleration is a vector quantity. 

 The instantaneous acceleration is defined as (the limiting 

value of the ratio as t approaches zero): 

 =                Instantaneous acceleration      (4.5) 
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4.2 Two-Dimensional Motion with Constant Acceleration 
 

Motion in two dimensions can be modeled as two independent 

motions in each of the two perpendicular directions associated with the x 

and y axes. That is, any influence in the y direction does not affect the 

motion in the x direction and vice versa. 

The position vector for a particle moving in the xy plane can be written: 

 +                                 (4.6) 

The velocity of the particle: 
  =   +  

vx +  vy                              (4.7) 
 

To determine the final velocity at any time t, we obtain: 

( vix + x t)  +( viy + y t)  = ( vix  + viy )  ( x  + y ) t 

 t             Velocity vector as a function of time        (4.8) 
 
Similarly, 
xf = xi + vix t + ax t2      and    yf = yi + viy t + ay t2 
 
Substituting these expressions into equation (4.6) (and labeling the final 

position vector ( f ) gives: 

f = ( xi + vix t + ax t2)  + ( yi + viy t + ay t2 )  

    = (xi  + yi  ) + (vix  + viy  ) t +  (ax  + ay  ) t2 

f = i +  +   t2    Position vector as a function of time        (4.9) 
 
Example (4.1): 
 
A particle moves in the xy plane, starting from the origin at ( t = 0 ) with 

an initial velocity having an x - component of (20 m/s) and y- component 

of  (-15 m/s). The particle experiences an acceleration in the x - direction, 

given by (ax = 4.0 m/s2). 

(A) Determine the total velocity vector at any time. 
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(B) Calculate the velocity and speed of the particle at (t = 5.0 s) and 

the angle the velocity vector makes with the x- axis. 

(C) Determine the x and y coordinates of the particle at any time t and 

its position vector at this time. 

Solution: 

(A) The components of the initial velocity 

tell us that the particle starts by moving 

toward the right and downward. 

The x- component of velocity starts at 20 m/s and increases by 4.0 m/s 

every second. The y - component of velocity never changes from its 

initial value of (-15 m/s). 

 t = ( vix + x t)  +( viy + y t)   

 [20 + 4 t]   + [ -15 + 0 t ]   

 [(20 + 4 t)   - 15  ] m/s 

 

(B)   [(20 + 4 t)   - 15  ]= [ {20 + 4(5)   - 15 ]= (40   - 15 ) m/s 

 The angle :   =  =  = - 21° 

The negative sign for the angle  indicates that the velocity vector is 

directed at an angle of 21° below the positive x - axis. 

The speed of the particle as the magnitude of  : 

vf  =  =  =  vf  = 43 m/s 

 

        ( C )       xf  = ax t2 

                 xf  = ( 20 t + 2 t2 ) m 

              yf  =  = ( - 15 t ) m 

The position vector of the particle at any time t : 

f = ( xf   + yf  ) = [( 20 t + 2 t2 )  - 15 t  ] m 




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4.3 Projectile Motion 

Anyone who has observed a baseball in motion has observed 

projectile motion. The ball moves in a curved path and returns to the 

ground. The path of a projectile, which we call its trajectory, is always a 

parabola. The expression for the position vector of the projectile as a 

function of time follows directly from equation 4.9, with its acceleration 

being that due to gravity,  

f = i +  +   t2                 (4.10) 

Where the initial x and y components of the velocity of the projectile are: 

i                i 

 

 
When analyzing projectile motion, model it to be the superposition 

of two motions: (1) motion of a particle under constant velocity in the 

horizontal direction and (2) motion of a particle under constant 

acceleration (free fall) in the vertical direction. 

 

Horizontal Range and Maximum Height of a Projectile 

Let us assume a projectile is launched from the origin at ti = 0 with 

a positive vyi component as shown in figure above, and returns to the 
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same horizontal level. This situation is common in sports, where 

baseballs, footballs, and golf balls often land at the same level from 

which they were launched. 

Two points in this motion are especially interesting to analyze: 

 The peak point A, which has Cartesian coordinates (R/2, h), and  

 The point B, which has coordinates (R, 0).  

 The distance ( R ) is called the horizontal range of the projectile, 

and the distance  (h) is its maximum height. 

 Let us find ( h ) and (R ) mathematically in terms of vi, i, and g : 

We can determine (h ) by noting that at the peak vyA =0. Therefore, we 

can use the y component of equation (4.8) to determine the time tA at 

which the projectile reaches the peak: 

 

ay t 

0 =  g tA 

tA =  

Substituting this expression for tA into  

the y component of  equation (4.9) and replacing y = yA with h, we obtain 

an expression for h in terms of the magnitude and direction of the initial 

velocity vector: 

h =  ) ( ) -  g (  ) 

h =            Maximum height for the projectile           (4.11)  

 The range R is the horizontal position of the projectile at a time that 

is twice the time at which it reaches its peak, that is,  

at time (tB = 2tA). 

Using the x component of equation (4.9), noting that: 
 

 =  = , and setting xB = R  at t = 2tA , we find that: 
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R =  tB = ) (2tA) 

R = )  =  

Using the identity , so  

R =           Horizontal range of the projectile                (4.12) 

The maximum value of R from equation (4.12) is: 

Rmax =       because the maximum value of , which 

occurs when °. Therefore, R is a maximum when °. 

 

Example (4.2): 

A long jumper leaves the ground at an angle of 20° above the horizontal 

and at a speed of 11.0 m/s. 

(A) How far does he jump in the horizontal direction? 

(B) What is the maximum height reached? 

Solution: 

(A) :  Use equation (4.12) to find the range of the jumper: 

R =  =  = 7.94 m 

 

(B):  The maximum height reached by using equation 4.11: 
 
h =  = 0.722 m 

 

Example (4.3): 

A stone is thrown from the top of a building upward at an angle of (30°) 

to the horizontal with an initial speed of (20 m/s) as shown in the figure. 

The height from which the stone is thrown is (45 m) above the ground. 

(A) How long does it take the stone to reach the ground? 
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Solution:  (A) We have the information  

xi = yi = 0 , yf = - 45 m, ay = - g , and 20 m/s 

The initial x and y components of the  

 

  = 20 cos 30° = 17.3 m/s 

  = 20 sin 30° = 10 m/s 

The vertical position of the stone from the vertical component: 

yf = yi +  +  ay t2 

-45 = 0 + 10 t +  (- 9.8) t2 

t = 4.22 s 

(B) What is the speed of the stone just before it strikes the ground? 

=  + ay t 

       = 10 + (- 9.8)(4.22) = - 31.3 m/s 

4.4  Relative Velocity 

We describe how observations made by different observers in 

different frames of reference are related to one another. A frame of 

reference can be described by a Cartesian coordinate system for which an 

observer is at rest with respect to the origin. 

Consider the two observers A and B along the number line in 

figure a.  

Observer A is located at the origin of  

a one-dimensional xA axis, while observer B is at  

the  position xA = -5. We denote the position  

variable as xA because observer A is at the origin 

 of this  axis. Both observers measure the position  

of  point P, which is located at xA = +5. Suppose  
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 )Force and Motion الحركةو  (القوة   

 الحركة  ᡧ ᢕᣌقوانThe Laws of Motion 

ᢝ الᣄعة والتعجᘭل دون التعرض لأسᘘاب حركة الاجسام. الآن س ستعرض كᘭفᘭة 
ᡧᣍالفصل الثا ᢝ

ᡧ
ᣚ ناقشنا

  تولد التعجᘭل ᚽسᛞب القوة.  

 Newton’s First Law of Motion قانون نيوتن الأول للحركة 5.1

ᛒᣥانقانون نيوتن الأول للحركة  سᘭــ ا أحᗷ) ᢝ
ᡨᣍأنه قانون القصور الذاᗷ ᢝ

ᡨᣍيوصف مصطلح القصور الذا .(

ᢝ حركته).  جسم(مᘭل ال
ᡧ

ᣚ ات ᢕᣂآخر لقانون نيوتن الأول هو نصهناك و لمقاومة التغي 

ᢝ حالة ساᜧن الجسم ال ᡨᣛᘘ ي(
ᡧ

ᣚ،مالجسم المتحرك و  سكونᘭخط مستق ᢝ
ᡧ

ᣚ عة ثابتةᣄᚽ الحركة ᢝ
ᡧ

ᣚ ستمرᛒ ،

ᢝ حالة عدم وجود قوى خارجᘭة
ᡧ

ᣚ .( 

ᗷؤثر ما لا توجد قوة ت، عندآخر  ᜓلام  ᣢل، فإن تجسمعᘭكون جسمال عجᘌ  ث ؛ ا صفرᘭيتم التعامل مع ح

 حالة لجسᘭما نموذجلجسم وفقا ال ᢝ
ᡧ
ᣚ التوازن particle in equilibrium هذا ᢝ

ᡧ
ᣚ .كون ، النموذجᘌ

 ᢝ
ᡧ

ᣚصا ᣢمالقوة عᘭساوي  الجسᛒ :صفر   

෍ 𝐹⃗ ൌ 0                           ሺ5.1ሻ 

 القوة Force : لنيوتن من القانون الأول ᢝ
ᡧ

ᣚ 
᠍
ا ᢕᣂب تغيᛞسᘻ ᢝ

ᡨᣎأنها تلك ال ᣢف القوة عᗫᖁمكننا تعᘌ ،

 حركة الجسم. 

 تلة᜻ال Mass تلة᜻ف الᗫᖁمكننا تعᘌ : انهاᗷ ةᘭال جسمال خاص ᢝ
ᡨᣎ يحدد مقدار ت ᢝ

ᡨᣎديها المقاومة الᘘ 

ᣃ ᢝعته.  جسمال
ᡧ

ᣚ ات ᢕᣂةالجسم كتلة ان  للتغᘌة عددᘭم᛿ ᢝᣦ،  النظاموحدو ᢝ
ᡧ

ᣚ تها  ᢝᣥالعال SI  ᢝᣦ 

ᡧ ال᜻تلة والوزنᗫو . kg كᘭلوغرام ᢕᣌث ان جب عدم الخلط بᘭميتان مختلفتان. ، ح᛿ تلة والوزن᜻ال

᛿ ᢝل مᜓان.  تᡨᣛᘘ كتلة الجسم ان  
ᡧ

ᣚ نفسها  

 الوزن Weight : ساويᛒ  مةوزن الجسمᘭة  قᘭالجسم ؤثرةالمقوة الجاذب ᣢختلف ،عᗫالوزن و 

) ᛒ )84 kgساوي الأرضكوكب عᣢ   شخص وزنعᣢ سᘭᙫل المثال،  . او المᜓان الموقعᗷاختلاف 

ᘌ ᡧكون وزنه  ᢕᣌح ᢝ
ᡧ

ᣚ) ᢝᣠ14حوا kg( ) ᢝ
ᡧᣎعᘌ سطح القمر، وهذا ᣢ1فقط ع   ) وزنه عᣢ الأرض. ⁄6

5.2   ᢝ
ᡧ
ᣍقانون نيوتن الثا Newton’s Second Law 
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 ᣄفᘌ ᘻ حدث للجسم عندما لاᘌ هقانون نيوتن الأول ماᘭحالة  ان إما فالجسم : أي قوى سلط عل ᢝ
ᡧ

ᣚ ᡨᣛᘘي

ᢝ خط مستقᘭم.  ثاᗷت انطلاقᗷأو يتحرك  السكون
ᡧ

ᣚ اما ᢝ
ᡧᣍالسؤال المتعلق فقانون نيوتن الثا ᣢب عᘭجᘭ

.  ؤثر علᘭهما عندما ت جسمᗷما ᘌحدث ل ᡵᣂᜧقوة أو أ   

 ث انᘭل الجسم وحᘭناسب  تعجᙬه: يᘭا مع القوة المؤثرة علᘌطرد  

𝐹⃗ ∝ 𝑎⃗ 

  مةوᘭل الجسم ان قᘭا مع كتلته: ت تعجᘭناسب عكسᙬ  

|𝑎⃗| ∝
1
𝑚

 

 : ᢝ
ᡧ
ᣍل  قانون نيوتن الثاᘭا مع  جسمالتعجᘌناسب طردᙬي ᢝ

ᡧ
ᣚه و  المؤثرةالقوة صاᘭعلᗫ ا معᘭناسب عكسᙬ

  كتلته: 

𝑎⃗ ∝
∑ 𝐹⃗
𝑚

 

نا ثاᗷت التناسب ما إذا  ᡨᣂكوناخᘭتلة والت، )1( واحد  ل᜻ط الᗖمكننا رᘭلفᘭعلاقةوالقوة من خلال ال عج 

ᘭاضᗫᖁةالآ  ةالᘭت  ᢝ
ᡧ

ᣚ : ᢝ
ᡧᣍقانون نيوتن الثا  

෍ 𝐹⃗ ൌ 𝑚𝑎⃗                            ሺ5.2ሻ 

  ᢝ
ᡧ

ᣚالقوة ان صا∑ 𝐹⃗ ᣢجسم ع  ᢝᣦ عᖔالمؤثرة القوى جميع متجهات مجم ᣢالجسم ع .  

 نيوتن الـــ وحدةب وتقاس القوة )N( نظام ᢝ
ᡧ

ᣚ  ᢝᣥالوحدات العال SI .   

 انها نيوتن: الوحدة  عرفتᗷ 1قوةN  ، ᢝ
ᡨᣎجسم كتل ما تؤثر عندال ᣢ1 تهع kg لا ، ت تج تᘭعج 

1مقدارە  m sଶ⁄ . 

1N ൌ 1
kg m

sଶ   

 The Gravitational Force and Weight قوة الجاذبᘭة والوزن 5.3
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قوة ـ ᗷالأرض عᣢ جسم ما  لمسلطة من قᘘلإᣠ الأرض. وᘻسᣥ القوة الجذب ا جسامتنجذب جميع الا 

سᘻ ᣥ قᘭمتها ، و مركز الأرض ᗷاتجاە اتجاهها  كونᘌهذە القوة  . Gravitational Force 𝐹⃗௚ الجاذبᘭة

   الجسم.  Weight وزن

ᢝ عند و ) يتجه نحو مركز الأرض. 𝑔⃗( عجᘭلا ت سقوطا حرا الساقط  جسميواجه ال
ᡧᣍتطبيق قانون نيوتن الثا  

∑ 𝐹⃗ ൌ 𝑚𝑎⃗ ᣢجسم كتلته  ع𝑚 سقطᛒ  ل  ،  سقوطا حراᘭبتعج𝑎⃗ ൌ 𝑔⃗    وقوة∑ 𝐹⃗ ൌ 𝐹⃗௚  كونᘌ  

∑ 𝐹⃗ ൌ 𝑚𝑎⃗      →    𝐹⃗௚ ൌ 𝑚𝑔⃗ 

 ساوي  لذلكᛒ الجسموزن 𝑚𝑔 ( ᢝ
ᡧᣔل الأرᘭمة التعجᘭق ᢝ

ᡧ
ᣚ اᗖو ᡧᣆكتلة الجسم م) 

 ون ان الوزن ل᜻ᣢعتمد عᘌ مةᘭق  ᢝ
ᡧᣔل الارᘭالتعج 𝑔 ،كون مختلفا  الوزن فانᘌ  اختلاف الموقعᗷ

 ᢝ
ᡧ

ᣚالجغرا geographic location  . ب انخفاضوᛞمة ᚛سᘭق 𝑔 ادة المسافة بᗫᖂن مركز الأرضع 

  أقل عᣢ ارتفاعات أعᣢ من مستوى سطح الᘘحر.  ᘌكون وزنها ، فإن الأجسام  صعودا 

 Newton’s Third Law قانون نيوتن الثالث 5.4

. ᘌُعرف هذا المᘘدأ المهم ᗷاسم بنفس الوقتᘌدفع اصᘘعك ال᜻تاب  فان، ឝصᘘعكب تدفع كتابعندما 

 : قانون نيوتن الثالث

ᢝ حالة ت
ᡧ

ᣚ) ᢕᣂأث  ᡧ ᢕᣌعض جسمᘘال ᣢعضهما عᗷ  تكون القوة ،𝐹⃗ଵଶ  ᢝ
ᡨᣎال ᛒ 1 جسمالسلطها ᣢ2 جسمال ع 

ᢝ  مᙬساوᗫة
ᡧ

ᣚ مةالᘭسةتوم قᜧالقوة تجاەلا  عا  𝐹⃗ଶଵ  ᢝ
ᡨᣎسلطها الجسم الᛒ 2 ᣢ1 جسمال ع :(  

𝐹⃗ଵଶ ൌ െ𝐹⃗ଶଵ                       ሺ5.4ሻ 

 ᛒ ᢝ
ᡨᣎالقوة ال ᣥسᘻال 1 سلطها الجسم ᣢا 2 جسمعᗷفعلقوة ال سم Action force ᣥسᘻو ،

  . Reaction force رد الفعلقوة ᗷاسم  1 جسمعᣢ ال 2 جسمقوة ال

  رد الفعلتعمل قوى الفعل و  ᣢع، المختلفةجسام الأ عᖔجب أن تكون من نفس نᗫمثل ( القوى و

  إلخ).  القوة ال᜻هᗖᖁائᘭة، قوة الجاذبᘭة،
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 نيوتن ᡧ ᢕᣌقات قوانᘭعض تطبᗷ Some Applications of Newton's laws :   

ᡧ مرتᘘط ᚽ طة سلكاسبو  N 122 وزنها  إشارة مرور علقت  ): 5.1مثال ( ᢕᣌ᜻سل 

ᗫᖁآخ ᣢع ᡧ ᢕᣌتᙫة ةمادعن مثᘭالشᜓل.   افق ᢝ
ᡧ

ᣚ ما᛿ا تصنعالعل ان الاسلاكᘭ  اᘌالزوا  

37୭ 53و୭ ار ان . مع الأفقᘘال ينهذ أخذ بنظر الاعت ᡧ ᢕᣌ᜻س سلᛳا ل ᗫᖔمثل  انق

 ت قوةإذا تجاوز  قطعاننيسوف انهما و  مرور الឝشارة المرتᘘط ب العمودي السلك

ᢝ هذە الحالة، أم  ةمعلق ظلان إشارة المرور ستهل قرر . N 100ا مفيهشد ال
ᡧ

ᣚ

ᘭ؟سلاكالا هذە أحد  قطعس     

، عᣢ إشارة المرور لمؤثرة للقوى ا ا تخطᘭطᘭ ا رسمنرسم  الحل: 

ᢝ الشᜓل 
ᡧ

ᣚ ᡧ ᢕᣌما هو مب᛿b حر ال‐جسممخطط ال، و diagram 

of the forces  ط الاᗖᖁت ᢝ
ᡨᣎما هو   الثلاثة معا  سلاكللعقدة ال᛿

 ملائمال جسمالknot  ᢝᣦ . هذە العقدةcموضح ᗷالشᜓل 

هذە خطوط تمر عᢔᣂ  امتداد عᣢ  تؤثر قوى اللأن ᛿ل  ،للاختᘭار 

  العقدة.   

∑قانون نيوتن الأول طبق ن 𝐹⃗ ൌ ᢝ حالة سكون،  0
ᡧ

ᣚ لأنها ᣢع

 ᢝ
ᡧ

ᣚ اتجاە  إشارة المرور𝑦   ما᛿ الشᜓل ᢝ
ᡧ

ᣚb   

෍ 𝐹௬ ൌ 0 

𝑇ଷ െ 𝐹௚ ൌ 0    →   𝑇ଷ െ 122 ൌ 0 

∴ 𝑇ଷ ൌ 122 N 

ᢝ الشᜓل (نختار 
ᡧ

ᣚ ما هو موضح᛿ اتᘭمحاور الإحداثc(،  مال ند ل القوى المؤثرة علحنو ᢝ
ᡧ

ᣚ اتها عقدةᘘرك :  
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 حالة لجسᘭما نموذج نطبق ᢝ
ᡧ
ᣚ التوازن  ᣢقانون نيوتن الأول: ، أي عقدةالع  

ሺ1ሻ         ෍ 𝐹௫ ൌ െ𝑇ଵ cos 37୭ ൅ 𝑇ଶ cos 53୭ ൌ 0 

ሺ2ሻ        ෍ 𝐹௬ ൌ 𝑇ଵ sin 37୭ ൅ 𝑇ଶ sin 53୭ ൅ ሺെ122 Nሻ ൌ 0 

ሺ3ሻ           𝑇ଶ ൌ 𝑇ଵ ൬
cos 37୭

cos 53୭൰ ൌ 1.33𝑇ଵ 

ᢝ المعادلة 𝑇ଶهذە القᘭمة لـ  بتعᗫᖔض
ᡧ

ᣚ )2(  

ሺ2ሻ        ෍ 𝐹௬ ൌ 𝑇ଵ sin 37୭ ൅ 𝑇ଶ sin 53୭ ൅ ሺെ122 Nሻ ൌ 0 

෍ 𝐹௬ ൌ 𝑇ଵ sin 37୭ ൅ ሺ1.33𝑇ଵሻ sin 53୭ ൅ ሺെ122 Nሻ ൌ 0 

∴ 𝑇ଵ ൌ 73.4 N 

∴ 𝑇ଶ ൌ 1.33𝑇ଵ ൌ 1.33ሺ73.4 ሻ ൌ 97.4 N 

ᡧ ان   ᢕᣌمتᘭلا الق᛿𝑇ଵ ൌ 73.4 N  و𝑇ଶ ൌ 97.4 N  100أقل من N  فإن ᢝᣠالتاᗖقطعلن ت سلاكالا ، و . 

𝜃   ᢝجلᘭدي ᘌمᘭل بزاوᗫة  طᗫᖁقع𝑚  ᣢ تها سᘭارة كتل ): 5.2مثال (
ᡧ

ᣚ ما᛿الشᜓل a) .Aل) أوجد تᘭعج 

اض أن الالسᘭارة ᡨᣂافᗷ ،ق املسᗫᖁط 

ض أن ر ) افB( . (لᛳس هناك احتᜓاك)

 من سكونالسᘭارة قد انطلقت من ال

 مصد أعᣢ المنحدر وأن المسافة من 

ماᢝᣤ للسᘭارة إᣠ أسفل الأ  الصدمات

المستغرق  زمنال هو . ᛿م 𝑑 و المنحدر ه

إᣠ  لسᘭارةصد الأماᢝᣤ لالم لᘌ ᢝᣟصل

  هناك؟، وما ᣃ ᢝᣦعة السᘭارة عند وصولها إᣠ أسفل التل

. أولا  )A(الحل:  ᢝ
ᡧᣍارة متحركة؛ نطبق قانون نيوتن الثاᘭارة نحلل القوىطالما السᘭالس ᣢالمسلطة ع  ᣠا

 مركبتان؛ احداهما موازᗫة للطᗫᖁق والأخرى عمودᘌة علᘭه
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 ሺ1ሻ           ෍ 𝐹௫ ൌ 𝑚𝑔 sin 𝜃 ൌ 𝑚𝑎௫ 

ሺ2ሻ         ෍ 𝐹௬ ൌ 𝑛 െ 𝑚𝑔 cos 𝜃 ൌ 0 

  ) نجد ان1من العلاقة (

    ∴  𝑎௫ ൌ 𝑔 sin 𝜃 

 مᘭلعتمد فقط عᣢ زاوᗫة ᗷانها ت͑ ذلك  𝑚 مستقلة عن كتلة السᘭارةتكون  𝑎௫عجᘭل الت ركᘘةلاحظ أن م

ᢝ  قᘭمة وع𝜃 ᣢ الطᗫᖁق
ᡧᣔل الارᘭالتعج 𝑔 .  

)Bةᘭعد واحد) ) نطبق العلاقة الاتᗷ ᢝ
ᡧ

ᣚ الحركة) ᢝ
ᡧᣍمن الفصل الثا 

𝑥௙ ൌ 𝑥௜ ൅ 𝑣௜௫𝑡 ൅
1
2

𝑎௫𝑡ଶ 

𝑑 ൌ 0 ൅ ሺ0ሻ𝑡 ൅
1
2

𝑎௫𝑡ଶ 

𝑑 ൌ
1
2

𝑎௫𝑡ଶ 

∴ 𝑡 ൌ ඨ
2𝑑
𝑎௫

ൌ ඨ
2𝑑

𝑔 sin 𝜃
 

 الᣄعة النهائᘭة للسᘭارةولإᘌجاد 

𝑣௙௫
ଶ ൌ 𝑣௜௫

ଶ ൅ 2𝑎௫൫𝑥௙ െ 𝑥௜൯ 

𝑥௙وان  الᣄعة النهائᘭة للسᘭارة لإᘌجاد ، 𝑣௜௫ حᘭث ان  െ 𝑥௜ ൌ 𝑑 كونᘌ  

𝑣௙௫
ଶ ൌ 0 ൅ 2𝑎௫𝑑 

𝑣௙௫ ൌ ඥ2𝑎௫𝑑 ൌ ඥ2𝑔 𝑑 sin 𝜃 
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ᡧ كتل ): 5.3مثال ( ᢕᣌتيهما عندما يتم تعليق جسم  ᢕᣂة  غᗫساوᙬم ᢝᣠشᜓل شاقوᚽ  ᣢع

ᢝ الشᜓل   مهملة تها كتل  ملساءᗷكرة 
ᡧ

ᣚ ما᛿a، فانه  ᣢطلق عᘌُ ب هذاᛳت ᡨᣂآلةاسم ال 

ᢝ المختᢔᣂ اهذا ᛒستخدم  . Atwood اتود
ᡧ

ᣚ انᘭعض الأحᗷ ᢝ
ᡧ

ᣚ مة ،لجهازᘭد قᘌلتحد 

 ᢝ
ᡧᣔل الارᘭالتعج 𝑔 . لᘭمة تعجᘭال جد ق ᡧ ᢕᣌل  شد الجد و  جسمᘘالح ᢝ

ᡧ
ᣚ كونᘌ الذي

  مهمل الوزن؟

ᢝ آلة تخضع الأجسام : حلال
ᡧ

ᣚ  لقوة ا اتود ᢝ
ᡨᣎة وكذلك للقوى الᘭسلطها لجاذبᘻ

 𝑇ሬ⃗الشد الأعᣢ وᢝᣦ اᣠ : قوة جسمقوتان ع᛿ ᣢل  حᘭث تؤثر  ،المتصلة بها الحᘘال 

tension  ᘭكون اتجاهها نحو الاسفلوالقوة الجاذبᗫلاحظ الشᜓل:  . ة و   

ᢝ عᣢ الب
ᡧᣍكون:  1 جسمتطبيق قانون نيوتن الثاᘌ  

ሺ1ሻ         ෍ 𝐹௬ ൌ 𝑇 െ 𝑚ଵ𝑔 ൌ 𝑚ଵ𝑎௬ 

ሺ2ሻ         ∴ 𝑇 ൌ 𝑚ଵ𝑎௬ ൅ 𝑚ଵ𝑔 

ᢝ عᣢ الب
ᡧᣍكون:  2 جسمتطبيق قانون نيوتن الثاᘌ 

ሺ3ሻ          ෍ 𝐹௬ ൌ 𝑚ଶ𝑔 െ 𝑇 ൌ 𝑚ଶ𝑎௬ 

 ሺ4ሻ            ∴ 𝑇 ൌ 𝑚ଶ𝑔 െ 𝑚ଶ𝑎௬ 

  ᘌكون 𝑎௬لإᘌجاد التعجᘭل  )4) و (ᗷ2مساواة المعادلة (

𝑚ଵ𝑎௬ ൅ 𝑚ଵ𝑔 ൌ 𝑚ଶ𝑔 െ 𝑚ଶ𝑎௬ 

𝑚ଵ𝑎௬ ൅ 𝑚ଶ𝑎௬ ൌ െ𝑚ଵ𝑔 ൅ 𝑚ଶ𝑔 

𝑎௬ሺ𝑚ଵ ൅ 𝑚ଶሻ ൌ 𝑔ሺ𝑚ଶ െ 𝑚ଵሻ 

𝑎௬ ൌ ൬
𝑚ଶ െ 𝑚ଵ

𝑚ଵ ൅ 𝑚ଶ
൰ 𝑔 

ᢝ الحᘘل شد ال ولإᘌجاد 
ᡧ

ᣚ 𝑇 ) كون من المعادلةᘌ2 (  
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𝑇 ൌ 𝑚ଵ𝑎௬ ൅ 𝑚ଵ𝑔       →     𝑇 ൌ 𝑚ଵ ൬
𝑚ଶ െ 𝑚ଵ

𝑚ଵ ൅ 𝑚ଶ
൰ 𝑔 ൅ 𝑚ଵ𝑔           

𝑇 ൌ 𝑚ଵ𝑔 ൤൬
𝑚ଶ െ 𝑚ଵ

𝑚ଵ ൅ 𝑚ଶ
൰ ൅ 1൨  →   𝑇 ൌ 𝑚ଵ𝑔 ൬

𝑚ଶ െ 𝑚ଵ ൅ 𝑚ଵ ൅ 𝑚ଶ

𝑚ଵ ൅ 𝑚ଶ
൰      

𝑇 ൌ 𝑚ଵ𝑔 ൬
𝑚ଶ ൅ 𝑚ଶ

𝑚ଵ ൅ 𝑚ଶ
൰   →     𝑇 ൌ 𝑚ଵ𝑔 ൬

2𝑚ଶ

𝑚ଵ ൅ 𝑚ଶ
൰   → 𝑇 ൌ ൬

2𝑚ଵ𝑚ଶ

𝑚ଵ ൅ 𝑚ଶ
൰ 𝑔 

متصلان  𝑚ଶ تها كتلقطعة مكعᘘة  و  𝑚ଵ تها كرة كتل ): 5.4مثال (

 مهملة تها كتل  ملساءالوزن ᘌمر عᗷ ᢔᣂكرة  مهملطة سلك اسبو 

ᢝ الشᜓل
ᡧ

ᣚ ما᛿ a . ندᙬسᘻ  ةᘘالقطعة المكع ᣢةسطح مائل بعᗫزاو 

𝜃 . مةᘭلت جد قᘭال عج ᡧ ᢕᣌل.  شد وال جسمᘘالح ᢝ
ᡧ

ᣚ    

 ، فإنسطح المائلإᣠ أسفل ال 𝑚ଶ القطعة إذا تحركت الحل: 

ᡧ أن الل᜻ون لأعᣢ. اᣠ اتحرك ت 𝑚ଵ ال᜻رة ᢕᣌض أنه لا يالطة اسبو  نمتصلا جسم ᡨᣂد)دمتسلك (الذي نف ،

ᡧ هو نفسهفإن  ᢕᣌل الجسمᘭمقدار تعج .  

ᢝ بتطبي
ᡧᣍات القوى  ق قانون نيوتن الثاᘘمرك ᣢع ᣢرةع᜻ال 𝑚ଵ الاتجاە الن، و ᡨᣂخ ᢝᣠشاقو

ᢝ الشᜓل  ان ᘌكون موجب
ᡧ

ᣚ ما᛿   

 ሺ1ሻ       ෍ 𝐹௫ ൌ 0 

ሺ2ሻ          ෍ 𝐹௬ ൌ 𝑇 െ 𝑚ଵ𝑔 ൌ 𝑚ଵ𝑎ଵ ൌ 𝑚ଵ𝑎 

وري ا عجللᢝᣟ تت ᡧᣆمن ال ، ᣢالأع ᣠرة إ᜻كونلᘌ رة: أي ان ان᜻من وزن ال ᢔᣂᜧالشد ا 𝑇 ൐ 𝑚ଵ𝑔 

ᢝ الآن ن
ᡧᣍطبق قانون نيوتن الثاᣢات القوى عᘘمرك ᣢالقطعة  ع

𝑚ଶ  الشᜓل ᢝ
ᡧ

ᣚ ما᛿ c 

ሺ3ሻ   ෍ 𝐹௫ᇲ ൌ 𝑚ଶ𝑔 sin 𝜃 െ 𝑇 ൌ 𝑚ଶ𝑎௫ᇲ ൌ 𝑚ଶ𝑎 

ᡧ ) لأن ال𝑎( التعجᘭل) ᗷـ𝑎௫ᇲ(التعجᘭللقد اسᘘᙬدلنا  ᢕᣌلهما  جسم

ᢝ ال مᙬساو᠏  تعجᘭل
ᡧ

ᣚ مقدار )𝑎 .( 
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෍ 𝐹௬ᇲ ൌ 𝑛 െ 𝑚ଶ𝑔 cos 𝜃 ൌ 0 

   ᘌ 𝑇جاد الشد لإ ) 2نحل المعادلة (

ሺ2ሻ     ෍ 𝐹௬ ൌ 𝑇 െ 𝑚ଵ𝑔 ൌ 𝑚ଵ𝑎 

∴  𝑇 ൌ 𝑚ଵ𝑎 ൅ 𝑚ଵ𝑔 

ሺ5ሻ         𝑇 ൌ 𝑚ଵሺ𝑔 ൅ 𝑎ሻ 

ᢝ المعادلة  معادلةال ەهذ نعوض
ᡧ

ᣚ)3(  

෍ 𝐹௫ᇲ ൌ 𝑚ଶ𝑔 sin 𝜃 െ 𝑇 ൌ 𝑚ଶ𝑎 

𝑚ଶ𝑔 sin 𝜃 െ 𝑚ଵሺ𝑔 ൅ 𝑎ሻ ൌ 𝑚ଶ𝑎 

  فᘭكون )𝑎( هذە المعادلة لإᘌجاد حل ن

 𝑚ଶ𝑔 sin 𝜃 ൌ 𝑚ଶ𝑎 ൅ 𝑚ଵሺ𝑔 ൅ 𝑎ሻ      →   𝑚ଶ𝑔 sin 𝜃 ൌ 𝑚ଶ𝑎 ൅ 𝑚ଵ𝑔 ൅ 𝑚ଵ𝑎  

𝑚ଶ𝑔 sin 𝜃 െ 𝑚ଵ𝑔 ൌ 𝑎ሺ𝑚ଶ ൅ 𝑚ଵሻ     →   ሺ𝑚ଶ sin 𝜃 െ 𝑚ଵሻ𝑔 ൌ 𝑎ሺ𝑚ଶ ൅ 𝑚ଵሻ  

𝑎 ൌ ൬
𝑚ଶ sin 𝜃 െ 𝑚ଵ

𝑚ଵ ൅ 𝑚ଶ
൰ 𝑔 

ᢝ المعادلة  التعجᘭل هذە معادلة نعوض 𝑇لإᘌجاد الشد 
ᡧ

ᣚ )5(  

𝑇 ൌ 𝑚ଵሺ𝑔 ൅ 𝑎ሻ     →    𝑇 ൌ 𝑚ଵ ൤𝑔 ൅ ൬
𝑚ଶ sin 𝜃 െ 𝑚ଵ

𝑚ଵ ൅ 𝑚ଶ
൰ 𝑔൨ 

𝑇 ൌ 𝑚ଵ ൤1 ൅ ൬
𝑚ଶ sin 𝜃 െ 𝑚ଵ

𝑚ଵ ൅ 𝑚ଶ
൰൨ 𝑔  →   𝑇 ൌ 𝑚ଵ ൬

𝑚ଵ ൅ 𝑚ଶ ൅ 𝑚ଶ sin 𝜃 െ 𝑚ଵ

𝑚ଵ ൅ 𝑚ଶ
൰ 𝑔  

𝑇 ൌ 𝑚ଵ𝑔 ൬
𝑚ଶ ൅ 𝑚ଶ sin 𝜃

𝑚ଵ ൅ 𝑚ଶ
൰ →   𝑇 ൌ 𝑚ଵ𝑚ଶ ൬

1 ൅ sin 𝜃
𝑚ଵ ൅ 𝑚ଶ

൰  𝑔 
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  Force of Friction الاحتᜓاك ىقو  5.5

ᢝ حالة حركة سواء 
ᡧ

ᣚ كون الجسمᘌ ان عندما᛿ سطح أو ان ᣢج عᖂوسط ل ᢝ
ᡧ

ᣚ viscous medium مثل 

   . قوة الاحتᜓاكᙏᗷسᢝᣥ هذە المقاومة محᘭطه. ᗷ يتأثر  جسم، فهناك مقاومة للحركة لأن الالهواء أو الماء 

  ة  ما سلطتإذاᘭة خارجᘭقوة أفق 𝐹⃗  ᣢث تكون مؤثرة، ما  قطعةعᘭحᗷ جهةيها عل ᣢع  ، ᡧ ᢕᣌمᘭال

ة 𝐹⃗ القوة ثابتة عندما تكون القطعةᘌمكن أن تظل  ᢕᣂث، صغᘭقوة مضادة للقوة هناك  ان ح𝐹⃗ 

 وᘻسᣥ الᛳسار جهة  نحو وᗫكون اتجاهها  التحرك من القطعة القطعة تمنع عᣢتكون مسلطة 

 الس الاحتᜓاك قوة ᢝ
ᡧ
ᣍكو ( ᢝᣞᘭالستات) Force of static friction 𝑓௦ . تلة أن طالما و᜻تتحرك لا  ال 

ᢝ ان
ᡧᣎعᘌ القوة الم فهذا ᢝ

ᡧᣍساوي قوة الاحتᜓاك السكوᘻ سلطة 𝑓௦ ൌ 𝐹⃗ . 

ᢝ ، ، ف𝐹⃗ الخارجᘭة المسلطة القوة ، إذا زادتلذلك
ᡧᣍان قوة الاحتᜓاك السكو 𝑓௦  .ضاᘌسوف تزداد أ

ᢝ حالة 
ᡧ

ᣚ ، المثلᗖة نقصان القوةوᘭالخارج 𝐹⃗  ،فان  ᢝ
ᡧᣍقوة الاحتᜓاك السكو 𝑓௦  ضᘌنخفض أᙬا. س  

  ᣘمتحرك جسمل قوة الاحتᜓاكتد ᗷ قوة الاحتᜓاك الا ــ  ᢝ
ᡨ
ᣚنزلا   ᢝᣜالحر)( Force of kinetic 

friction  𝑓௞ .  

 كون لᘌ مكن أنᘌمةᘭقوة الاحتᜓاك الس ق ᢝ
ᡧᣍكو 𝑓௦   ᡧ ᢕᣌأي سطح ᡧ ᢕᣌب ᡧ ᢕᣌلها  متماسᘭث انالقᘭحᗷ م   

𝑓௦ ൑ 𝜇௦𝑛                            ሺ5.5ሻ 

ᢝ معامل الاحتᜓاك الس𝜇௦  ᗷ حᘭث ᘌطلق عᣢ الثاᗷت
ᡧᣍث ان الحرف  كوᘭح)𝜇  ᢝ

ᡧᣍهو حرف يونا

المسلطة  عمودᘌةالقوة ال قᘭمة 𝑛  ᢝᣦ انو  ،لᛳس له اᗷعاد (وحدات)هذا المعامل و  ،ᘌلفظ مᘭـو)

  خر. الآ سطح ما عᣢ سطح  من قᘘل

  المساواةان إشارة ሺൌሻ  المعادلة ᢝ
ᡧ

ᣚ𝑓௦ ൑ 𝜇௦𝑛  وشك تكون عندما  ؤخذ تفأنها ᣢالأسطح ع

𝑓௦ ، أي عندما تكونverge of slipping الانزلاق ൌ 𝑓௦,୫ୟ୶ ൌ 𝜇௦𝑛 . ᢝ
ᡧ

ᣚحالةال ەهذ ᘻᣥس 

    . impending motion الحدوث الحركة الوشᘭكةــ ᗷ الحركة

 عدم المساواة ثابتا  اما اشارة )൏(  وشك الانزلاق.  عندما لا تكون الأسطحتؤخذ ᣢع  

 ᣗقوة الاحتᜓاك الا  تع ᢝ
ᡨ

ᣚنزلا ( ᢝᣜالحر) force of kinetic friction  ᡧ ᢕᣌسطح ᡧ ᢕᣌتعمل ب ᢝ
ᡨᣎال

  ᗷالعلاقة

𝑓௞ ൌ 𝜇௞𝑛                            ሺ5.6ሻ 
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ᢝ معامل الاحتᜓاك الا  𝜇௞  ᢝᣦان حᘭث 
ᡨ

ᣚنزلا ( ᢝᣜالحر) coefficient of kinetic friction .  

 مᘭل من معامل الاحتᜓاك الا   تعتمد ق᛿ ᢝ
ᡨ

ᣚنزلا 𝜇௞  ᢝ
ᡧᣍوالسكو 𝜇௦ عة الأسطحᘭطب ᣢالمتماسة ع .  

  مة معامل الاحتᜓاك الاᘭشᜓل عام تكون قᚽ  ᢝ
ᡨ
ᣚنزلا 𝝁𝒌    ᢝ

ᡧ
ᣍمة معامل الاحتᜓاك السكوᘭاقل من ق

𝝁𝒔 .  ثᘭة حᘭم النموذجᘭاوح الق ᡨᣂلها ت) ᢝᣠ0.03من حوا  ᣠ1إ .(   

  جسم ᣢكون اتجاە قوة الاحتᜓاك عᘌكونᘌ ا للسطح الذيᗫه ما موازᘭحالة التماس جسمال ف ᢝ
ᡧ

ᣚ 

ᢝ الحركة الفعلᘭة (الاحتᜓاك الا  وعكس
ᡨ

ᣚأو الحركة نزلا (كةᘭالاحتᜓاك الس الحدوث الوش) ᢝ
ᡧᣍكو (

  ᗷال سᘘة للسطح.  جسملل

 ): 5.5مثال (

فان  ᘭلزاوᗫة الم إذا ما ازدادت. ᘌمكن تغيᢕᣂ زاوᗫة مᘭلهخشن مائل عᣢ سطح  كعᘘةقطعة م توضع

ᢝ الا  القطعة المكعᘘة
ᡧ

ᣚ دأᘘأسفل السطح المائلت ᣠنزلاق ا . ᡧ ᢕᣌب ᣢمكنك الحصول عᘌ مة معامل  أنهᘭق

 ᢝ
ᡧᣍالاحتᜓاك السكو 𝜇௦ ة الحرجةᗫاس الزاوᘭق قᗫᖁعن ط 𝜃  حدث عندها هذا الانزلاقᘌ ᢝ

ᡨᣎةال ᡫᣃاᘘ؟م    

طالما ان القطعة المكعᘘة ساᜧنة عᣢ السطح  الحل: 

الأول، نحلل القوى اᣠ المائل، نطبق قانون نيوتن 

  قوى افقᘭة وأخرى عمودᘌة: 

ሺ1ሻ           ෍ 𝐹௫ ൌ 𝑚𝑔 sin 𝜃 െ 𝑓௦ ൌ 0 

ሺ2ሻ      ∴  𝑓௦ ൌ 𝑚𝑔 sin 𝜃 

ሺ3ሻ           ෍ 𝐹௬ ൌ 𝑛 െ 𝑚𝑔 cos 𝜃 ൌ 0 

ሺ4ሻ        ∴ 𝑚𝑔 ൌ
𝑛

cos 𝜃
  

ة (نعوض  ᢕᣂالمعادلة () 4المعادلة الأخ ᢝ
ᡧ

ᣚ2ᣢفنحصل ع (  

  ሺ5ሻ               𝑓௦ ൌ 𝑚𝑔 sin 𝜃 ൌ ቀ
𝑛

cos 𝜃
ቁ sin 𝜃 ൌ 𝑛 ൬

sin 𝜃
cos 𝜃

൰ ൌ 𝑛 tan 𝜃 

ᢝ تكونعᣢ وشك الانزلاق، فإن قوة الاحتᜓاك الس قطعةال ان تكون لغاᘌة 𝜃 مᘭلعندما تزداد زاوᗫة ال
ᡧᣍكو 

ᢝᣦ 𝑓௦ و قد وصلت إᣠ أقᣕ قᘭمة لها  ൌ 𝜇௦𝑛 .  
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𝑓௦ ൌ 𝜇௦𝑛 ൌ 𝑛 tan 𝜃 

∴ 𝜇௦ ൌ tan 𝜃 

ᢝ خشن ᘻسᙬند  𝑚ଶكتلتها   مكعᘘة قطعة ): 5.6مثال (
ᡨᣛسطح اف ᣢع ِᗷ متصلة 

᠑
بوساطة  𝑚ଵرة كتلتها ك

 َᗷ ᢔᣂم الوزن عᘌل عدᘘح 
᠐
᜻ .الشᜓل ᢝ

ᡧ
ᣚ ظهرᘌ ما᛿ مة الاحتᜓاكᘌمتها اذا ما رة عدᘭسلطت قوة ق𝐹  ةᗫبزاو𝜃 

ᢝ الشᜓل مع الأفق ᛿ما ᘌظهر 
ᡧ

ᣚ و، ᡧ ᢕᣌمᘭجهة ال ᣠان م  و  ان القطعة انزلقت ا᛿ ᢝ
ᡨ

ᣚعامل الاحتᜓاك الانزلا  ᡧ ᢕᣌب

ᡧ  أحسب. 𝜇௞ و القطعة والسطح ه ᢕᣌل للجسمᘭمة التعجᘭ؟ق  

ان القطعة المكعᘘة وال᜻رة ᚽسᛞب هذە القوة سᚏتحر᛿ان، حᘭث الحل: 

᛿ ᡧما اشᢕᣂ اᣠ ذلك ᗷمنطوق  ᢕᣌمᘭال ᣠة اᘘتحرك القطعة المكعᙬس

المسألة وسᙬتحرك ال᜻رة اᣠ الأعᣢ لان قوة الشد أᢔᣂᜧ من وزنها. ان 

يوضح القوى المسلطة عᣢ ال᜻رة. نحلل القوى المسلطة  bالشᜓل 

ᢝ الشᜓل 
ᡧ

ᣚ ما᛿ ةᘘالقطعة المكع ᣢعc . 

 

 

. ان القوى الافقᘭة عᣢ القطعة المكعᘘة ᢝ
ᡧᣍون ان هناك حركة، نطبق قانون نيوتن الثا᜻ل  

ሺ1ሻ          ෍ 𝐹௫ ൌ 𝐹 cos 𝜃 െ 𝑓௞ െ 𝑇 ൌ 𝑚ଶ𝑎௫ ൌ 𝑚ଶ𝑎 

 ᢝᣦ رة᜻ال ᣢة عᘌوالقوى العمود 
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ሺ2ሻ          ෍ 𝐹௬ ൌ 𝑇 െ 𝑚ଵ𝑔 ൌ 𝑚ଵ𝑎௬ ൌ 𝑚ଵ𝑎 

ሺ3ሻ     𝑇 ൌ 𝑚ଵ𝑎 ൅ 𝑚ଵ𝑔 ൌ 𝑚ଵሺ𝑎 ൅ 𝑔ሻ 

ᢝ المعادلة ()  𝑎௫(التعجᘭللقد اسᘘᙬدلنا 
ᡧ

ᣚ1 ( لᘭو التعج𝑎௬  ) المعادلة ᢝ
ᡧ

ᣚ2 (ـᗷلᘭالتعج )𝑎لأن ال ( ᡧ ᢕᣌجسم 

ᢝ ال مᙬساو᠏  تعجᘭللهما 
ᡧ

ᣚ مقدار )𝑎 .(  

  القوى ᗷالاتجاە العمودي تعᣗعᣢ القطعة المكعᘘة، حᘭث ان محصلة الآن نطبق قانون نيوتن الأول 

ሺ4ሻ                     ෍ 𝐹௬ ൌ 𝑛 ൅ 𝐹 sin 𝜃 െ 𝑚ଶ𝑔 ൌ 0 

  فᘭكون 𝑛) لإᘌجاد 4نحل المعادلة (

ሺ5ሻ     𝑛 ൌ 𝑚ଶ𝑔 െ 𝐹 sin 𝜃 

وᢝᣘ تعᗷ ᣗالعلاقة  ᡫᣄث ان قوة الاحتᜓاك الᘭوح 𝑓௞ ൌ 𝜇௞𝑛  ضᗫᖔكون لدينا بتعᘌ𝑛 ) 5من المعادلة( 

ሺ6ሻ      𝑓௞ ൌ 𝜇௞ሺ𝑚ଶ𝑔 െ 𝐹 sin 𝜃ሻ 

ᢝ المعادلة (3من المعادلة ( 𝑇) و عن 6المعادلة (من  𝑓௞عن  نعوض
ᡧ

ᣚ (1(  جادᘌلإ𝑎  

ሺ1ሻ          ෍ 𝐹௫ ൌ 𝐹 cos 𝜃 െ 𝑓௞ െ 𝑇 ൌ 𝑚ଶ𝑎 

𝐹 cos 𝜃 െ 𝜇௞ሺ𝑚ଶ𝑔 െ 𝐹 sin 𝜃ሻ െ 𝑚ଵሺ𝑎 ൅ 𝑔ሻ ൌ 𝑚ଶ𝑎 

𝐹 cos 𝜃 െ 𝑚ଶ𝑔 𝜇௞ ൅ 𝜇௞𝐹 sin 𝜃 െ 𝑚ଵ𝑎 െ 𝑚ଵ𝑔 ൌ 𝑚ଶ𝑎 

𝐹 cos 𝜃 ൅ 𝜇௞𝐹 sin 𝜃 െ 𝑚ଵ𝑔 െ 𝑚ଶ𝑔 𝜇௞ ൌ 𝑚ଵ𝑎 ൅ 𝑚ଶ𝑎 

𝐹ሺcos 𝜃 ൅ 𝜇௞ sin 𝜃ሻ െ ሺ𝑚ଵ ൅ 𝜇௞𝑚ଶሻ𝑔 ൌ 𝑎ሺ𝑚ଵ ൅ 𝑚ଶሻ 

𝑎 ൌ
𝐹ሺcos 𝜃 ൅ 𝜇௞ sin 𝜃ሻ െ ሺ𝑚ଵ ൅ 𝜇௞𝑚ଶሻ𝑔

𝑚ଵ ൅ 𝑚ଶ
 

 

 



 
 

Chapter 5  
(Force and Motion) 

The Laws of Motion 
5.1  of Motion: 

 of Motion Sometimes called the ( law of inertia). 

The term inertia is described as (the tendency of an object to resist 

changes in its motion).  is  

(In the absence of external forces, an object at rest remains at rest and 

an object in motion continue in motion with a constant velocity in a 

straight line). 

In other words, when no force acts on an object, the acceleration of the 

object is zero; the object is treated with the particle in equilibrium 

model. In this model, the net force on the object is zero:      

                                           (5.1) 

 
 Force: From the first law, we can define force as that which causes 

a change in motion of an object. 

 Mass: we can define mass is that property of an object that 

specifies how much resistance an object exhibits to changes in its 

velocity. Mass is a scalar quantity. The SI unit of mass is the 

kilogram. Mass should not be confused with weight. Mass and 

weight are two different quantities. The mass of an object is the 

same everywhere. 

 Weight: The weight of an object is equal to the magnitude of the 

gravitational force exerted on the object and varies with location. 

For example, a person weighing (84 kg) on the Earth weighs only 

about (14 kg) on the Moon, that means (1/6) his weighs on the Earth. 



 
 

 

5.2  
when no forces 

act on it: it either remains at rest or moves in a straight line with constant 

object when one or more forces act on it. 

 The acceleration of an object is directly proportional to the force 

acting on it:                           

 The magnitude of the acceleration of an object is inversely 

proportional to its mass:           

 The acceleration of an object is directly 

proportional to the net force acting on it and inversely proportional to its 

mass:   

                                               

 

If we choose a proportionality constant of 1, we can relate mass, 

acceleration, and force through the following mathematical statement of 

 

                             (5.2) 

 

 The net force ) on an object is the vector sum of all forces 

acting on the object. 

 The SI unit of force is the newton (N). 

 The definition of the newton is: A force of 1 N is the force that, 

when acting on an object of mass 1 kg, produces an acceleration of 

1 m/s2.                        

1 N =1 kg . m/s2 

 



 
 

 

5.3 The Gravitational Force and Weight 
All objects are attracted to the Earth. The attractive force exerted by 

the Earth on an object is called the gravitational force g. This force is 

directed toward the center of the Earth, and its magnitude is called the 

weight of the object. 

A freely falling object experiences an acceleration ( ) acting toward 

           

to a freely falling object of mass m, with     and  g , gives 

g =                                                 (5.3) 

 The weight of an object is equal to mg:   F = m g 

 Because it depends on g, weight varies with geographic location. 

Because g decreases with increasing distance from the center of the 

Earth, objects weigh less at higher altitudes than at sea level. 

 

5.4  
When your finger pushes on the book, the book pushes back on your 

finger. This important principle is known as  third law: 

(If two objects interact, the force 12 exerted by object 1 on object 2 is 

equal in magnitude and opposite in direction to the force 21 exerted by 

object 2 on object 1): 

12 = - 21                                 (5.4) 

 

 The force that object 1 exerts on object 2 is popularly called the 

action force, and the force of object 2 on object 1 is called the 

reaction force. 



 
 

 The action and reaction forces act on different objects and must be 

of the same type (gravitational, electrical, etc.). 

Some Applications of Newton's laws: 
Example (5.1): 

A traffic light weighing 122 N hangs from a cable tied to two other 

cables fastened to a support as in the figure a. The upper cables make 

angles of 37° and 53° with the horizontal. These upper cables are not as 

strong as the vertical cable and will break if the tension in them exceeds 

100 N. Does the traffic light remain hanging in this situation, or will one 

of the cables break? 

 

 

 

Solution: 

We construct a diagram of the forces acting  

on the traffic light, shown in the figure b, and a free-body  

diagram for the knot that holds the three cables together, shown in the 

figure c. This knot is a convenient object to choose because all the forces 

of interest act along lines passing through the knot. 

 

 Apply equation (5.1) for the traffic light in  

the y direction: 

 
 

 Choose the coordinate axes as shown in the figure c and resolve the 

forces acting on the knot into their components: 



 
 

 
  

Apply the particle in equilibrium model to the knot: 

 

 

Substitute this value for T2 into equation (2): 

 

Both values are less than 100 N, so the cables will not break. 

 

Example (5.2): 

A car of mass m is on an icy driveway inclined at an angle u as in the 

figure a. 

(A) Find the acceleration of the car, assuming the driveway is 

frictionless. 

Solution: 

 



 
 

Note that the acceleration component ax is independent of the mass of the 

car! It depends only on the angle of inclination and on g. 

 

(B) Suppose the car is released from rest at the top of the incline and 

incline is d. How long does it take the front bumper to reach the 

s it arrives there? 

Solution: 

Apply equation:                 xf  = xi ax t2 

xf  = d    ,   xi = 0  and     then       d= ax t2 

Solve for  t :   

 

 

Use equation:            +2ax (xf  - xi )  

 with  , to find the final velocity of the car: 

2 ax d 

 
 

Example (5.3): 

When two objects of unequal mass are 

 hung vertically over a frictionless pulley of negligible 

 mass as in the figure a,  the arrangement is called an 

 Atwood machine.  

The device is sometimes used in the lab. to determine the value of g. 

Determine the magnitude of the acceleration of the two objects and the 

tension in the lightweight cord. 

 



 
 

Solution: 

The objects in the Atwood machine are subject to the gravitational force 

as well as to the forces exerted by the strings connected to them. 

Two forces act on each object: the upward force   (tension) exerted by 

the string and the downward gravitational force. 

 

 

 

 
 

Apply  

 

 
Solve for the acceleration:     

 

To find the tension T of the string:      

 

Example (5.4): 

A ball of mass m1 and a block of mass m2 are attached by a 

lightweight cord that passes over a frictionless pulley of negligible mass 

as in the figure a. The block lies on a frictionless incline of angle .  

Find the magnitude of the acceleration of the two objects and the tension 

in the cord. 

Solution: 

If m2 moves down the incline, then m1 moves 

upward. Because the objects are connected by a 

cord (which we assume does not stretch), their 



 
 

accelerations have the same magnitude. 

  ball, 

choosing the upward direction as positive: 

 

 

 

For the ball to accelerate upward, it is necessary that T  m1g. 

 

 
 
the block: 
 

 
 
We replaced (ax' ) with (a ) because the two objects have accelerations of 

equal magnitude  (a). 

 

Solve equation (2) for T :   

 

Substitute this expression for T into equation (3): 

 
Solve for (a):  

 
Substitute this expression for (a) into equation (5) to find T : 
 

 
 



 
 

5.5 Forces of Friction 

When an object is in motion either on a surface or in a viscous 

medium such as air or water, there is resistance to the motion because the 

object interacts with its surroundings. We call such resistance                   

a force of friction. 

 If we apply an external horizontal force  to a block for example, 

acting to the right, the block can remains stationary when  is 

small. The force on the block that counteracts  and keeps it from 

moving acts toward the left and is called the force of static 

friction s . As long as the block is not moving, fs = F. Therefore, if 

 is increased, s also increases. Likewise, if  decreases, s also 

decreases. 

 We call the friction force for an object in motion the force of 

kinetic friction k . 

 The magnitude of the force of static friction between any two 

surfaces in contact can have the values:  

             (5.5) 

 Where the dimensionless constant (µs) is called the coefficient of 

static friction and (n) is the magnitude of the normal force exerted by 

one surface on the other.  

 The equality in equation (5.5) holds when the surfaces are on the 

verge of slipping, that is, when fs = fs,max = µsn. This situation is 

called impending motion.  

 The inequality holds when the surfaces are not on the verge of 

slipping. 

 The magnitude of the force of kinetic friction acting between two 

surfaces is:                                               



 
 

                                                                   (5.6) 

              Where (µk ) is the coefficient of kinetic friction. 

 The values of µk and µs depend on the nature of the surfaces.  

 µk is generally less than µs.  

Typical values range from around (0.03 to 1). 

 The direction of the friction force on an object is parallel to the 

surface with which the object is in contact and opposite to the 

actual motion (kinetic friction) or the impending motion (static 

friction) of the object relative to the surface. 

Example (5.5): 

A block is placed on a rough surface inclined relative to the 

horizontal as shown in the figure. The incline angle is increased until the 

block starts to move. Show that you can obtain µs by measuring the 

critical angle  at which this slipping just 

occurs? 

Solution: 

 
Substitute ( mg = n/cos ) from equation (2) into 

equation (1): 

 
When the incline angle is increased until the block is on the verge of 

slipping, the force of static friction has reached its maximum value µs n.  

µs n = n tan   

µs = tan  

 



 
 

Example (5.6): 

A block of mass m2 on a rough, horizontal surface is connected to a 

ball of mass m1 by a lightweight cord over a lightweight, frictionless 

pulley as shown in the figure a. A force of magnitude F at an angle  

with the horizontal is applied to the block as shown, and the block slides 

to the right. The coefficient of kinetic friction between the block and 

surface is µk. 

 Determine the magnitude of the acceleration of the two objects.  

Solution: 

 

 

Solve equation (2) for n:  

 

Substitute ( n ) into fk = µkn :  

  

Substitute equation (4) and the value of (T ) from equation (3) into 

equation (1):   

 

  

Solve for a:       
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